Mechanische Komponenten
Mechanical Components

Fohrenbach®

Positionier-Systeme



Mechanische Komponenten - Qualitdt und Prézision

Mechanical Components - Quality and Precision

FERTIGUNG

Fohrenbach-Prézisions-Schlittenfihrungen

sind in zwei mallich identischen Baureihen

in Schwalbenschwanz-Ausftihrung oder
rollengelagert lieferbar. Sie werden in genormten
Breiten von 30 bis 400 mm und Léngen von
35 bis 1800 mm hergestellt. Durch den bau-
kastenéhnlichen Aufbau kann praktisch fur jede
Problemstellung eine technisch und preislich
optimale Ausfiihrung geliefert werden.

Die Verwendung bester Materialien, langjéhri-
ge Erfahrung und Serienfertigung garantieren
gleichbleibende Qualitat und Prézision.

KONSTRUKTIONSMERKMALE

Schwalbenschwanz-Schlitten werden aus

den Materialien GG 25 und Alu gefertigt. Die
Spieleinstellung erfolgt Uber eine Zustelleiste.
Samtliche Ausfihrungen sind mit Schmier-
nippeln und Schmiernuten versehen. Alle
AuRenfldchen sind geschliffen, die Fithrun-
gen feingefrést. Rollengelagerte Schlitten in
Einzelachsen- oder Mehrachsenausfiihrungen
werden ebenso in den Materialien GG 25 und
Alu geliefert. Alu-Ausfiihrungen sind schwarz
anodisiert. Schlitten fur hohere Belastungen
kénnen in verstarkter Ausfiihrung geliefert
werden. Die rollengelagerten Schlitten sind in
vorgespannten, geharteten und geschliffenen
Prismenftihrungen gelagert. Sie garantieren
auch unter hoher Belastung eine leichtgéngige,
spielfreie und duBerst prazise Langsbewegung.
Gegentiber Gleitfiihrungen (Schwalbenschwanz-
ausfihrung) gestatten sie ein genaues, spiel-
freies und leichtes Verschieben von Teilen.

EINSATZGEBIETE

Allgemeiner Maschinenbau
Sondermaschinenbau

Vorrichtungs- und Melgerétebau

Optische und feinmechanische Industrie in
Versuchs- und Forschungswerkstatten

Technische Anderungen vorbehalten.

MANUFACTURE

The Féhrenbach precision sliding guides are on sale
in two series of identical sizes, either as dovetail guide
type or as sliding guides that run on roller bearings.
They are manufactured in standard widths from 30 to
400 mm and in lengths from 35 to 1800 mm. The uni-
tized construction realized with these devices enables
to supply technically optimized solutions at best prices
that meet with the requirement of almost all proble-
matic cases.

Use of best materials, an experience of long standing
as well as series production guarantee for permanent
quality and precision.

CONSTRUCTION FEATURES

The Féhrenbach dovetail guides are made of grey cast
iron (GG 25) and of aluminium. The play is adjusted
by means of an adjusting bar.

All types are equipped with greasing nipples and
greasing grooves. All outside surfaces are ground and
the guides milled fine. Also on sale are one axe or
multi-axe slide types that run on roller bearings. These
are made of grey cast iron (GG 25) or of aluminium.
Aluminium models are anodized black. Slides for
higher loads can be delivered as reinforced execu-
tion. The Fohrenbach slide types that run on roller
bearings run in prestressed, hardened and ground
Vee-guides. Even under high loads they assure smooth
running operation, free from play and guarantee an
extremely precise lengthwise motion. As compared to
qguide rails (dovetail type) they enable exact and easy
displacement of parts, free from play.

APPLICATION FIELDS

General machine construction

Construction of special purpose machines
Construction of jigs and fixtures and of measuring
devices

Optics and precision mechanics industry in test and
research workshops

Technical modifications reserved.



1.0

2.0

3.0

4.0

5.0

6.0

7.0

8.0

9.0

10.0

11.0

12.0

Schwalbenschwanz-Schlitten
Rollen-Schlitten

Rollen-Schlitten in
abgedichteter Ausfihrung

Miniatur-Rollen-Schlitten
Kreuzschlitten
Toleranzen

Ersatzteile

7.1 Kreuzrollen-
Fhrungsschienen

7.2 Rollenkéfige
7.3 Gewindespindeln

Sonderausfihrungen
8.1 Arretierung

8.2 Abdichtung durch
Abstreifer

8.3 Faltenbalg-Abdeckung
8.4 T-Nuten
8.5 Positionsanzeige PA

Zubehor
9.1 Montage-Winkel
9.2 Drehteller

Bohrbilder

Bestellschlssel

Verkaufsbedingungen

Diese Druckschrift wurde mit groRer Sorgfalt
erstellt und alle Angaben auf ihre Richtigkeit
geprift. Fur etwaige fehlerhafte oder
unvollsténdige Angaben kann jedoch keine
Haftung tibernommen werden. Aus Griinden
der standigen Weiterentwicklung unserer
Erzeugnisse miissen Anderungen vorbehalten
bleiben.

Inhalt | Table of Contents

Dovetal slides
Roller slides

Roller slides,
sealed models

Miniature roller slides
Cross slides
Tolerances

Spare parts
Cross roller guide rails

Roller cages
Threaded spindles

Special types
Locking
Sealing through scrapers

Bellows cover
T-slots
Position readout

Accessories
Mounting flanges
Turntables

Drilling plans

Order code

General Terms and
Conditions of Sale

This printed matter has been established with great
care and all information, specifications and data
contained herein have been checked for correctness.
However, we cannot assume any liabilities whatsoever
for any incorrect or incomplete specifications or data
contained in this catalogue. For reason of permanent
advancement of our products all information, specifica-
tions and data contained herein are subject to change.




1. Schwalbenschwanz-Schlitten | Dovetail slides

Schwalbenschwanz-Schlitten sind robuste aber The dovetail guides are robust, but nevertheless highly
dennoch préazise Positioniermodule fir die unter- precise positioning modules for the most different applica-
schiedlichsten Anwendungen. Standardschlitten tions and tasks. The standard dovetail guides are made of

sind aus GG 25 gefertigt, andere Werkstoffe sind grey cast iron (GG 25), but makes of other materials are

auf Anfrage erhaltlich. Die Tischauflageflache ist
geschliffen.

Die Fuhrungen sind feingefrést. Alle Baugrél3en
sind mit Schmiernuten ausgestattet.

possible, too. All table supporting surfaces are ground.
The guides are milled fine and all types are equipped with
greasing grooves.

SO

offene Ausfuhrung

open type

SE

Die Baureihe SE mit Endplatten eignet sich
zum Anbau von Anschlégen, Mikrometern,
Zylindern etc.

The SE line is equipped with end plates and suits for
attachment of stops, micrometers, cylinders etc.

SS

Die Baureihe SS ist mit einer Gewindespindel
ausgestattet. N&here Informationen zu den
verwendeten Spindeln finden Sie auf

Seite 30.

The SS line is equipped with a threaded spindle. As
for further detailed information on the spindle types
used please refer to page 30

SM

Die Baureihe SM ist mit einer Mikrometer-
randel mit Skalenteilung 0,02 mm ausgestattet,
die BaugroRen 075 bis 200 koénnen optional
auch mit Skalenteilung 0,01 mm geliefert
werden.

The SM line is equipped with a knurled micrometer
knob with a 0.02 mm scale gradation. Sizes 075 up to
200 can, on option, also be furnished with a 0.01 scale
gradation.

SK

Die Baureihe SK ist mit einer Kreuzkurbel,
ab BaugroRe 300 mit einem Handrad
ausgestattet.

The SK line is equipped with a cross type crank handle
and, from size 300 on, with a hand wheel.




1. Schwalbenschwanz-Schlitten | Dovetail slides

so AURQn
normal montiert EXthi tQII
mounted normal Daf‘t

|
S0 “thi
umgekehrt montiert r R

mounted reversed




1. Schwalbenschwanz-Schlitten | Dovetail slides

Schwalbenschwanz-Schlitten, GrundmaBe fiir alle Baureihen

Dovetail slides, standard sizes for all lines

GroBe
Size

050
075
100
150
200
300
400

Standardausfiihrung aus Grauguss 25
Standard type made of grey cast iron (GG 25)

50

75
100
150
200
300
400

25
32
40
50
60
75
100

49,5
74,5
99,5

149,0

199,0

299,0

399,0

15,0
19,5
24,0
29,5
37,0
50,0
70,0

12
14
18
25
38

10,0
14,0
18,0
27,0
35,0
50,0
71,5

G

335
51,5
69,5
103,0
1385
210,0
270,5

3,0
3,7
46
5,7
7,5
9,0
11,8

176
22,5
27,5
355
415
49,0
61,0

K

21,0
34,6
50,0
79,0

107,5

170,0

220,0

11,0
145
18,5
22,5
28,0
38,0
54,0

X *

9
14
14
20
20
26
26

* nicht bei SO
* not with SO

Y *

12,3
15,0
19,0
24,0
25,0
34,5
36,0

T-Nuten siehe Seite 33
For T-slots see page 33



1. Schwalbenschwanz-Schlitten | Dovetail slides

1.1 SO
offene Ausfiihrung
open type
»
Ve
Schwalbenschwanz-Schlitten, Baureihe SO
Dovetail slides, SO line
GroBe Linge Hub Hohe  Hohem.T-Nuten Schmierbohrung Mogl. Stand.-Bohrbild Gewicht  Gewicht mit T-Nuten
Size Length Stroke Height Height incl. Greasing hole Possible standard Weight Weight
T-slots drilling plan incl. T-slots
B L C A A P y4 71 Ba* + Bi* kg kg
050 080 030 25 35 10 25x 2 15,0 2xa 0,71 0,95
050 105 040 25 35 10 25x 3 15,0 3xa 0,93 1,24
050 130 050 25 35 10 25x 4 15,0 4xa 1,15 1,53
050 155 060 25 35 10 25x 5 15,0 5xa 1,37 1,83
050 180 070 25 35 10 25x 6 15,0 6xa 1,60 2,13
050 205 080 25 35 10 25x 7 15,0 7 xa 1,83 2,43
075 105 040 32 44 10 25x 3 15,0 1xa 1,77 2,38
075 130 050 32 44 10 25x 4 15,0 1xa 2,19 3,04
075 155 060 32 44 10 25x 5 15,0 2xa 2,62 3,52
075 180 070 32 44 10 25x 6 15,0 2xa 3,03 4,08
075 205 080 32 44 10 25x 7 15,0 3xa 3,45 4,64
075 255 100 32 44 10 25x 9 15,0 3xa 4,30 5,78
075 305 120 32 44 10 25x 11 15,0 4xa 513 6,91
100 110 040 40 50 10 25x 3 17,5 1xa 3,12 3,77
100 135 050 40 50 10 25x 4 17,5 1xa 3,82 4,62
100 160 060 40 50 10 25x 5 17,5 1xa 453 5,48
100 210 080 40 50 10 25x 7 17,5 2xa 5,96 7,19
100 260 100 40 50 10 25x 9 17,5 2xa 7,37 8,90
100 310 120 40 50 10 25x 11 17,5 3xa 8,79 10,61
100 360 140 40 50 10 25x 13 17,5 3xa 10,20 12,32
100 410 160 40 50 10 25x 15 17,5 4xa 11,62 14,03
100 460 180 40 50 10 25x 17 17,5 5xa 13,03 15,74
100 510 200 40 50 10 25x 19 17,5 5xa 14,45 17,45
150 160 060 50 66 15 50x 2 30,0 1xa 8,53 10,91
150 210 080 50 66 15 50x 3 30,0 1xa 11,19 14,31
150 260 100 50 66 15 50x 4 30,0 1xa 13,85 17,71
150 310 120 50 66 15 50x 5 30,0 2xa 16,52 21,12
150 360 140 50 66 15 50x 6 30,0 2xa 19,18 24,53
150 410 160 50 66 15 50x 7 30,0 3xa 21,84 27,93
150 460 180 50 66 15 50x 8 30,0 3xa 24,50 31,33
150 510 200 50 66 15 50x 9 30,0 3xa 27,17 34,75
150 610 240 50 66 15 50x 11 30,0 4xa 32,49 41,55
150 710 280 50 66 15 50x 13 30,0 5xa 37,82 48,37
150 810 320 50 66 15 50x 15 30,0 6xa 43,16 55,18
200 210 080 60 75 15 50x 3 30,0 1xa 17,95 21,98
200 260 100 60 75 15 50x 4 30,0 1xa 22,22 27,21
200 310 120 60 75 15 50x 5 30,0 1xa 26,50 32,45
200 410 160 60 75 15 50x 7 30,0 2xa 35,04 42,90
200 510 200 60 75 15 50x 9 30,0 2xa 43,59 43,37
200 610 240 60 75 15 50x 11 30,0 3xa 52,14 63,83
200 710 280 60 75 15 50x 13 30,0 4xa 60,69 74,29
200 810 320 60 75 15 50x 15 30,0 4xa 69,24 84,76
200 1010 400 60 75 15 50x 19 30,0 5xa 86,33 105,69
300 310 120 75 95 15 50x 5 30,0 Txa 49,78 61,53
300 410 160 75 95 15 50x 7 30,0 1xa 65,83 81,37
300 460 180 75 95 15 50x 8 30,0 1xa 73,86 91,29
300 510 200 75 95 15 50x 9 30,0 1xa 81,89 101,21
300 610 240 75 95 15 50x 11 30,0 2xa 97,95 121,06
300 710 280 75 95 15 50x 13 30,0 2xa 114,01 140,91
300 810 320 75 95 15 50x 15 30,0 3xa 130,06 160,75
300 1010 400 75 95 15 50x 19 30,0 3xa 162,17 200,44
400 410 160 100 125 15 50x 7 30,0 1xa 116,33 142,58
400 510 200 100 125 15 50x 9 30,0 1xa 145,08 177,35
400 610 240 100 125 15 50x 11 30,0 1xa 173,52 212,14
400 710 280 100 125 15 50x 13 30,0 2xa 201,97 246,91
400 810 320 100 125 15 50x 15 30,0 2xa 230,42 281,68
400 1010 400 100 125 15 50x 19 30,0 2xa 287,31 351,24
400 1210 480 100 125 15 50 x 23 30,0 3xa 34421 420,79
Bestelldaten Seite 38 *Bohrbild — Ba (AuBenteil) und Bi (Innenteil) — siehe Seite 36
Order code see page 38 Drilling plan - Ba (exterior part) and Bi (interior part) - see page 36



1. Schwalbenschwanz-Schlitten | Dovetail slides

1.2 SE
mit Endplatten

with end plates

1.3SS
mit Spindel >~
with spindle

.

MaBtabelle BaugréBen 50 - 150 | Size table, sizes 50 - 150

GroBBe Lénge Hub Hohe  Hohe m. T-Nuten Schmierbohrung
Size Length Stroke Height  Height incl. Greasing hole
T-slots

B L C C1 L1 A A-TN N D P o 01 R S
050 080 025 2,5 50 25 35 M5 15,0 0 19 14 6 47
050 105 025 2,5 75 25 35 M5 15,0 10 19 14 6 47
050 105 050 2,5 50 25 35 M5 15,0 0 19 14 6 47
050 130 025 2,5 100 25 35 M5 15,0 10 19 14 6 47
050 130 050 2,5 75 25 35 M5 15,0 10 19 14 6 47
050 155 050 2,5 100 25 35 M5 15,0 10 19 14 6 47
050 155 075 2,5 75 25 35 M5 15,0 10 19 14 6 47
050 180 075 2,5 100 25 35 M5 15,0 10 19 14 6 47
050 205 050 2,5 150 25 35 M5 15,0 10 19 14 6 47
050 205 075 2,5 125 25 35 M5 15,0 10 19 14 6 47
050 205 100 2,5 100 25 35 M5 15,0 10 19 14 6 47
075 105 025 2,5 75 32 44 M5 19,5 0 21 15 6 47
075 130 050 2,5 75 32 44 M5 19,5 0 21 15 6 47
075 155 050 2,5 100 32 44 M5 19,5 10 21 15 6 47
075 155 075 2,5 75 32 44 M5 19,5 0 21 15 6 47
075 180 075 2,5 100 32 44 M5 19,5 10 21 15 6 47
075 205 050 2,5 150 32 44 M5 19,5 10 21 15 6 47
075 205 100 2,5 100 32 44 M5 19,5 10 21 15 6 47
075 255 050 2,5 200 32 44 M5 19,5 10 21 15 6 47
075 255 100 2,5 150 32 44 M5 19,5 10 21 15 6 47
075 305 100 2,5 200 32 44 M5 19,5 10 21 15 6 47
075 305 150 2,5 150 32 44 M5 19,5 10 21 15 6 47
100 110 025 5,0 75 40 50 M6 24,0 0 21 15 6 47
100 135 025 50 100 40 50 M6 24,0 10 21 15 6 47
100 160 050 5,0 100 40 50 M6 24,0 10 21 15 6 47
100 210 050 50 150 40 50 M6 24,0 10 21 15 6 47
100 210 100 5,0 100 40 50 M6 24,0 10 21 15 6 47
100 260 050 5,0 200 40 50 M6 24,0 10 21 15 6 47
100 260 100 50 150 40 50 M6 24,0 10 21 15 6 47
100 310 100 50 200 40 50 M6 24,0 10 21 15 6 47
100 310 150 50 150 40 50 M6 24,0 10 21 15 6 47
100 360 150 5,0 200 40 50 M6 24,0 10 21 15 6 47
100 410 100 5,0 300 40 50 M6 24,0 10 21 15 6 47
100 410 150 50 250 40 50 M6 24,0 10 21 15 6 47
100 410 200 5,0 200 40 50 M6 24,0 10 21 15 6 47
100 410 250 5,0 150 40 50 M6 24,0 10 21 15 6 47
100 460 250 5,0 200 40 50 M6 24,0 10 21 15 6 47
100 510 200 5,0 300 40 50 M6 24,0 10 21 15 6 47
100 510 300 5,0 200 40 50 M6 24,0 10 21 15 6 47
150 210 050 5,0 150 50 66 M8 29,5 15 28 16 8 103
150 260 050 5,0 200 50 66 M8 29,5 15 28 16 8 103
150 260 100 50 150 50 66 M8 29,5 15 28 16 8 103
150 310 100 5,0 200 50 66 M8 29,5 15 28 16 8 103
150 310 150 50 150 50 66 M8 29,5 15 28 16 8 103
150 360 150 5,0 200 50 66 M8 29,5 15 28 16 8 103
150 410 100 50 300 50 66 M8 29,5 15 28 16 8 103
150 410 200 5,0 200 50 66 M8 29,5 15 28 16 8 103
150 460 150 50 300 50 66 M8 29,5 15 28 16 8 103
150 460 250 50 200 50 66 M8 29,5 15 28 16 8 103

Standardausfihrung aus Grauguss 25 Weitere GroBen und Langen Seite 10 und 11

Standard type made of grey cast iron (GG 25) Further sizes and lengths page 10 and 11



1. Schwalbenschwanz-Schlitten | Dovetail slides

1.5 SK

mit Kreuzkurbel

1.4 SM

mit Mikrometerrandel

with knurled micrometer with cross type

knob

Spindel Mogl. Stand.-Bohrbild  Gewicht  Gewichtm.T-Nuten =~ Gewicht  Gewicht m. T-Nuten
Spindle Possible standard Weight Weight incl. Weight Weight incl.
drilling plan T-slots T-slots
T U1 u2 u3 v z 1 Ba* Bi* kg (GG 25) kg (GG 25) kg (Al) kg (Al)
23,5 51 31 27 5§5 M6 x 1 25x 2 15,0 2xa 1xa 0,72 0,95 0,40 0,49
235 51 31 27 5|5 M6 x 1 25x 3 15,0 3xa 2xa 0,94 1,25 0,49 0,62
23,5 51 31 27 5j5 M6 x 1 25x 3 15,0 3xa Txa 0,83 1,13 0,45 0,57
235 51 31 27 55 M6 x 1 25x 4 15,0 4xa 3xa 1,16 1,54 0,59 0,74
235 51 31 27 55 M6 x 1 25x 4 15,0 4xa 2xa 1,04 1,43 0,55 0,70
23,5 51 31 27 55 M6 x 1 25x 5 15,0 5xa 3xa 1,26 1,72 0,64 0,82
235 51 31 27 5j5 M6 x 1 25x 5 15,0 5xa 2xa 1,15 1,61 0,60 0,78
23,5 51 31 27 5j5 M6 x 1 25x 6 15,0 6xa 3xa 1,38 1,91 0,70 0,91
23,5 51 31 27 55 M6 x 1 25x 7 15,0 7xa 4xa 1,71 2,32 0,84 1,08
235 51 31 27 5j5 M6 x 1 25x 7 15,0 7xa 4xa 1,60 2,21 0,80 1,04
23,5 51 31 27 5j5 M6 x 1 25x 7 15,0 7xa 3xa 1,49 2,09 0,76 1,00
30,0 54 38 31 5h7 M10x 1 25x 3 15,0 Txa 1xa 1,91 2,52 1,08 1,32
30,0 54 38 31 5h7 M10 x 1 25x 4 15,0 1xa 1xa 2,13 2,88 1,18 1,48
30,0 54 38 31 5h7 M10 x 1 25x 5 15,0 Txa Txa 2,55 3,45 1,38 1,73
30,0 54 38 31 5h7 M10 x 1 25x 5 15,0 Txa 1xa 2,34 3,24 1,29 1,65
30,0 54 38 31 5h7 M10 x 1 25x 6 15,0 2xa Txa 2,75 3,80 1,47 1,89
30,0 54 38 31 5h7 M10 x 1 25x 7 15,0 2xa 2xa 3,38 4,58 1,75 2,22
30,0 54 38 31 5h7 M10 x 1 25x 7 15,0 2xa 1xa 2,97 4,16 1,58 2,06
30,0 54 38 31 5h7 M10 x 1 25x 9 15,0 3xa 2xa 4,23 5,72 2,13 2,72
30,0 54 38 31 5h7 M10 x 1 25x 9 15,0 3xa 2xa 3,81 5,30 1,96 2,55
30,0 54 38 31 5h7 M10 x 1 25x 11 15,0 4xa 2xa 4,65 6,42 2,34 3,04
30,0 54 38 31 5h7 M10 x 1 25x 11 15,0 4xa 2xa 4,23 6,01 2,17 2,88
30,0 54 38 31 5h7 M10x 1 25x 3 17,5 1xa 60 x 86 3,34 3,99 1,81 2,07
30,0 54 38 31 5h7 M10 x 1 25x 4 17,5 Txa Txa 4,04 4,84 2,11 2,43
30,0 54 38 31 5h7 M10 x 1 25x 5 17,5 1xa Txa 4,38 5,32 2,27 2,64
30,0 54 38 31 5h7 M10 x 1 25x 7 17,5 1xa Txa 5,80 7,04 2,88 3,37
30,0 54 38 31 5h7 M10 x 1 25x 7 17,5 1xa Txa 5,05 6,29 2,59 3,08
30,0 54 38 31 5h7 M10 x 1 25x 9 17,5 2xa 2xa 7,21 8,74 3,49 4,10
30,0 54 38 31 5h7 M10 x 1 25x 9 17,5 2xa 1xa 6,46 7,79 3,19 3,80
30,0 54 38 31 5h7 M10 x 1 25x 11 17,5 3xa 2xa 7,88 9,71 3,81 4,53
30,0 54 38 31 5h7 M10 x 1 25x 11 17,5 3xa 1xa 7,14 8,96 3,51 4,24
30,0 54 38 31 5h7 M10 x 1 25x 13 17,5 3xa 2xa 8,55 10,67 4,11 4,96
30,0 54 38 31 5h7 M10 x 1 25x 15 17,5 4xa 3xa 10,72 13,13 5,03 5,99
30,0 54 38 31 5h7 M10 x 1 25x 15 17,5 4xa 2xa 9,97 12,38 4,73 5,69
30,0 54 38 31 5h7 M10 x 1 25x 15 17,5 4xa 2xa 9,22 11,64 4,43 5,39
30,0 54 38 31 5h7 M10 x 1 25x 15 17,5 4xa 1xa 8,48 10,89 4,14 5,10
30,0 54 38 31 5h7 M10 x 1 25x 17 17,5 4xa 2xa 9,89 12,60 4,74 5,82
30,0 54 38 31 5h7 M10 x 1 25x 19 17,5 5xa 3xa 12,05 15,06 5,65 6,85
30,0 54 38 31 5h7 M10 x 1 25x 19 17,5 5xa 2xa 10,56 13,56 5,06 6,25
47,0 92 53 40 10h7 Tri6x2 50x 3 30,0 1xa 1xa 11,50 14,62 6,05 7,29
47,0 92 53 40 10h7 Tr16 x 2 50x 4 30,0 1xa 1xa 14,16 18,02 7,20 8,73
47,0 92 53 40 10h7 Tr16 x 2 50x 4 30,0 1xa 1xa 12,71 16,57 6,62 8,16
47,0 92 53 40 10h7 Tr16 x 2 50x 5 30,0 2xa 1xa 15,38 19,98 7,78 9,61
47,0 92 53 40 10h7 Tr16 x 2 50x 5 30,0 2xa 1xa 13,93 18,53 7,21 9,03
47,0 92 53 40 10h7 Tr16 x 2 50x 6 30,0 2xa Txa 16,59 21,82 8,35 10,48
47,0 92 53 40 10h7 Tr16 x 2 50x 7 30,0 3xa 2xa 20,70 26,79 10,08 12,49
47,0 92 53 40 10h7 Tr16 x 2 50x 7 30,0 3xa Txa 17,80 23,89 8,92 11,34
47,0 92 53 40 10h7 Tr16 x 2 50x 8 30,0 3xa 2xa 21,91 28,74 10,65 13,36
47,0 92 53 40 10h7 Tr16 x 2 50x 8 30,0 3xa 1xa 19,01 25,84 9,49 12,21
Bestelldaten Seite 38 *Bohrbild — Ba (AuRenteil) und Bi (Innenteil) — siehe Seite 36
Order code see page 38 Drilling plan - Ba (exterior part) and Bi (interior part) - see page 36



1. Schwalbenschwanz-Schlitten | Dovetail slides

1.2 SE
mit Endplatten

with end plates

MaBtabelle BaugréBen 200 - 400 | Size table, sizes 200 - 400

GroBe
Size

150
150
150
150
150
150
150
150
150
200
200
200
200
200
200
200
200
200
200
200
200
200
200
200
200
200
300
300
300
300
300
300
300
300
300
300
300
300
400
400
400
400
400
400
400
400
400
400
400

Standardausfiihrung aus Grauguss 25

Lange
Length

L

510
510
510
610
610
710
710
810
810
310
410
410
510
510
610
610
610
710
710
710
810
810
810
1010
1010
1010
310
410
460
510
510
610
610
710
810
1010
1010
1010
510
610
710
810
810
1010
1010
1010
1210
1210
1210

Hub
Stroke

C

100
200
300
200
300
300
400
400
500
100
100
200
200
300
200
300
400
300
400
500
400
500
600
400
500
600
050
100
150
100
200
200
300
300
400
400
500
600
100
200
300
200
400
300
400
500
400
500
600

Standard type made of grey cast iron (GG 25)

C1

5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0

L1

400
300
200
400
300
400
300
400
300
200

200
300
200
400

200
400
300
200
400
300
200
600
500
400
250
300
300
400
300
400
300
400
400
600

400
400
400
400
600
400
700
600
500
800
700
600

Hohe
Height

A

50
50
50
50
50
50
50
50
50
60
60
60
60
60
60
60
60
60
60
60
60
60
60
60
60
60
75
75
75
75
75
75
75
75
75
75
75
75
100
100
100
100
100
100
100
100
100
100
100

A

66
66
66
66
66
66
66
66
66
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
95
95
95
95
95
95
95
95
95
95
95
95
125
125
125
125
125
125
125
125
125
125
125

Hohe m. T-Nuten
Height incl.
T-slots

10

M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10
M10

1.3SS
mit Spindel

with spindle

29,5
29,5
29,5
29,5
29,5
29,5
29,5
29,5
29,5
37,0
37,0
37,0
37,0
37,0
37,0
37,0
37,0
37,0
37,0
37,0
37,0
37,0
37,0
37,0
37,0
37,0
50,0
50,0
50,0
50,0
50,0
50,0
50,0
50,0
50,0
50,0
50,0
50,0
70,0
70,0
70,0
70,0
70,0
70,0
70,0
70,0
70,0
70,0
70,0

Schmierbohrung
Greasing hole

P

15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15

28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20

o1

16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20

00 00 0O O O O O O M O 0 O O O 0 o e P P © 0w ™

103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
125
125
125
125
125
125
125
125
125
125
125
125
125
125
125
125
125
125
125
125
125
125
125



1. Schwalbenschwanz-Schlitten | Dovetail slides

N

1.4 SM

mit Mikrometerrandel

< 1.5 SK

mit Kreuzkurbel

with knurled micrometer with cross type

knob D A handle A
< .
A
S
Spindel Magl. Stand.-Bohrbild  Gewicht  Gewichtm.T-Nuten ~ Gewicht  Gewicht m. T-Nuten
Spindle Possible standard Weight  Weightincl.  Weight  Weight incl.

drilling plan T-slots T-slots
T U1 U2 u3 \') z 11 Ba* Bi* kg (GG 25) kg (GG 25) kg (Al) kg (Al)
47,0 92 53 40 10h7 Tr16 x 2 50x 9 30,0 3xa 2xa 26,03 33,60 12,38 15,39
47,0 92 53 40 10h7 Tri6 x 2 50x 9 30,0 3xa 2xa 23,13 30,70 11,23 14,24
47,0 92 53 40 10h7 Tr16 x 2 50x 9 30,0 3xa 1xa 20,23 27,80 10,08 13,08
47,0 92 53 40 10h7 Tri6x2 50x 11 30,0 4xa 2xa 28,45 37,51 13,52 17,12
47,0 92 53 40 10h7 Tr16 x 2 50x 11 30,0 4xa 2xa 25,55 34,61 12,37 15,97
47,0 92 53 40 10h7 Tr16 x 2 50x 13 30,0 5xa 2xa 30,88 41,42 14,67 18,86
47,0 92 53 40 10h7 Tr16 x 2 50x 13 30,0 5xa 2xa 27,98 38,52 13,52 17,71
47,0 92 53 40 10h7 Tr16 x 2 50 x 15 30,0 6xa 2xa 33,31 45,34 15,83 20,60
47,0 92 53 40 10h7 Tr16 x 2 50 x 15 30,0 6xa 2xa 30,41 42,43 14,67 19,45
47 92 53 40 10h7 Tri6 x2 50x 5 30,0 Txa T1xa 24,70 30,65 12,25 14,61
47 92 53 40 10h7 Tr16 x 2 50x 7 30,0 2xa 1xa 33,24 41,10 15,85 18,97
47 92 53 40 10h7 Tri6 x 2 50x 7 30,0 2xa Txa 28,61 36,47 14,01 17,13
47 92 53 40 10h7 Tr16 x 2 50x 9 30,0 2xa 1xa 37,16 46,94 17,63 21,51
47 92 53 40 10h7 Tri6x2 50x 9 30,0 2xa Txa 32,53 42,31 15,79 19,67
47 92 53 40 10h7 Tr16 x 2 50x 11 30,0 3xa 2xa 45,70 57,40 21,23 25,87
47 92 53 40 10h7 Tr16 x 2 50x 11 30,0 3xa Txa 41,07 52,76 19,39 24,03
47 92 53 40 10h7 Tri6 x 2 50x 11 30,0 3xa Txa 36,44 48,13 17,55 22,19
47 92 53 40 10h7 Tr16 x 2 50x 13 30,0 4xa 2xa 49,62 63,23 23,00 28,41
47 92 53 40 10h7 Tri6x 2 50x 13 30,0 4xa 1xa 44,99 58,60 21,16 26,57
47 92 53 40 10h7 Tri6 x 2 50x 13 30,0 4xa 1xa 40,36 53,97 19,32 24,73
47 92 53 40 10h7 Tr16 x 2 50 x 15 30,0 4xa 2xa 53,54 69,07 24,78 30,94
47 92 53 40 10h7 Tr16 x 2 50 x 15 30,0 4xa 1xa 48,91 64,43 22,94 29,10
47 92 53 40 10h7 Tr16 x 2 50 x 15 30,0 4xa 1xa 44,28 59,80 21,10 27,26
47 92 53 40 10h7 Tr16 x 2 50 x 19 30,0 5xa 3xa 70,63 89,99 31,99 39,68
47 92 53 40 10h7 Tr16 x 2 50 x 19 30,0 5xa 2xa 66,00 85,36 30,15 37,84
47 92 53 40 10h7 Tr16 x 2 50x 19 30,0 5xa 2xa 61,37 80,83 28,31 36,00
66 146 80 12h7 Tr20x 4 50x 5 30,0 1xa - 52,57 64,31 26,14 30,81
66 146 80 12h7 Tr20 x 4 50x 7 30,0 1xa 1xa 64,56 80,10 31,26 37,43
66 146 80 12h7 Tr20 x 4 50x 8 30,0 1xa 1xa 68,50 85,93 33,00 39,92
66 146 80 12h7 Tr20 x 4 50x 9 30,0 Txa 1xa 80,67 100,00 38,01 45,69
66 146 80 12h7 Tr20 x 4 50x 9 30,0 1xa 1xa 72,44 91,86 34,74 42,42
66 146 80 12h7 Tr20 x 4 50x 11 30,0 2xa 1xa 88,56 111,67 41,50 50,68
66 146 80 = 12h7 Tr20 x 4 50x 11 30,0 2xa 1xa 80,32 103,44 38,23 47,41
66 146 80 3 12h7 Tr20 x 4 50x 13 30,0 2xa 1xa 96,44 123,33 44,99 55,67
66 146 80 “3_ 12h7 Tr20 x 4 50 x 15 30,0 3xa 1xa 104,31 135,00 48,47 60,66
66 146 80 5 12h7 Tr20 x 4 50 x 19 30,0 3xa 2xa 136,53 174,80 61,98 77,18
66 146 80 m 12h7 Tr20 x 4 50x 19 30,0 3xa 1xa 128,30 166,56 58,70 73,90
66 146 80 :’go 12h7 Tr20 x 4 50x 19 30,0 3xa 1xa 120,06 158,33 55,43 70,63
66 146 80 Z 12h7 Tr20x 4 50x 9 30,0 1xa Txa 142,64 174,92 63,73 76,55
66 146 80 “’g 12h7 Tr20 x 4 50x 11 30,0 1xa 1xa 158,30 196,91 70,08 85,42
66 146 80 12h7 Tr20 x 4 50 x 13 30,0 2xa 1xa 173,96 218,90 76,44 94,29
66 146 80 12h7 Tr20 x 4 50 x 15 30,0 2xa 1xa 215,19 266,46 92,95 113,32
66 146 80 12h7 Tr20 x 4 50 x 15 30,0 2xa Txa 189,63 240,90 82,80 103,16
66 146 80 12h7 Tr20 x 4 50 x 19 30,0 2xa 1xa 259,30 323,23 110,74 136,13
66 146 80 12h7 Tr20 x 4 50x 19 30,0 2xa 1xa 246,52 310,45 105,66 131,06
66 146 80 12h7 Tr20 x 4 50x 19 30,0 2xa 1xa 233,74 297,67 100,59 125,98
66 146 80 12h7 Tr20 x 4 50 x 23 30,0 3xa 2xa 303,41 380,00 128,53 158,95
66 146 80 12h7 Tr20 x 4 50 x 23 30,0 3xa Txa 290,63 367,22 123,45 153,87
66 146 80 12h7 Tr20 x 4 50 x 23 30,0 3xa 1xa 277,85 354,43 118,38 148,80

Bestelldaten Seite 38 *Bohrbild — Ba (AuBenteil) und Bi (Innenteil) — siche Seite 36

Order code see page 38 Drilling plan - Ba (exterior part) and Bi (interior part) - see page 36

11



2. Rollen-Schlitten | Roller slides

Rollen-Schlitten sind hochprézise Positionier- Roller slides are highly precise positioning modules for
module fur die unterschiedlichsten Anwendungen.  the most different applications and tasks. The standard
Standardschlitten sind aus GG 25 gefertigt, andere  slides are made of grey cast iron (GG 25). Upon demand,
slides made of different materials can be delivered, too. All

Werkstoffe sind auf Anfrage erhaltlich.
Alle AuRenflachen sind geschliffen.

outside surfaces are ground.

RO

offene Ausfiihrung

open type

RE

Die Baureihe RE mit Endplatten eignet sich
zum Anbau von Anschlégen, Mikrometern,
Zylindern etc.

The RE line is equipped with end plates and suits for
the attachment of stops, micrometers, cylinders etc.

RS

Die Baureihe RS ist mit einer Gewindespindel

ausgestattet. N&here Informationen zu den
verwendeten Spindeln finden Sie auf
Seite 32.

The RS line is equipped with a threaded spindle. For
further detailed information on the spindle types used
please refer to page 32.

RM

Die Baureihe RM ist mit einer Mikrometer-

randel mit Skalenteilung 0,02 mm ausgestattet,

die BaugroRen 075 bis 200 konnen optional
auch mit Skalenteilung 0,01 mm geliefert
werden.

The RM line is equipped with a knurled micrometer
knob of a 0.02 mm scale gradation. Sizes 075 up to
200 can, on option, be delivered with a 0.01 mm scale
gradation, too.

RK

Die Baureihe RK ist mit einer Kreuzkurbel,
ab BaugroRe 300 mit einem Handrad
ausgestattet.

The RK line is equipped with a cross type handle and,
from size 300 on, with a hand wheel.

12



2. Rollen-Schlitten | Roller slides

Agy

RO N
normal montiert Exterlgtell
mounted normal Da It

O

»
< ’ -
g ,W

Q

|
RO nthi
umgekehrt montiert r D

mounted reversed

13



2. Rollen-Schlitten | Roller slides

GroBe
Size

040
050
060
075
100
150
200

Standardausfiihrung aus Grauguss 25
Standard type made of grey cast iron (GG 25)

<d
<>

B A
40 20
50 25
60 25
75 32
100 40
150 50
200 60

B1

39,5
49,5
59,5
74,5
99,5
149,0
199,0

13,0
17,0
17,0
21,0
27,5
355
40,0

6,5
6,5
6,5
8,5
11,0
13,0
17,0

Rollen-Schlitten, GrundmaBe fiir alle Baureihen
Roller slides, basic sizes for all lines

6,5
7,5
75
10,5
12,0
14,0
19,5

9,0

8,5
14,0
23,0
24,0
38,0
80,0

20,0
25,0
30,6
39,5
52,0
77,5

19,5

14

13,0
18,0
18,0
23,0
28,0
36,5
42,0

33,0
44,5
50,0
59,0
86,0

126,0

168,0

10,0
11,0
11,0
13,0
19,5
24,5
29,0

M3
M3
M4
M5
M6
M8
M8

x*

Y*

9,0
12,3
12,3
15,0
19,0
24,0
25,0

MID A

* nicht bei RO/RE
* not with RO/RE

Rollendurch-
messer
d

O O O W W WN

T-Nuten siehe Seite 33

For T-slots see page 33



2. Rollen-Schlitten | Roller slides

2.1 RO
offene Ausfiihrung
open type
@
|
- '4///1
Rollen-Schlitten, Baureihe RO
Roller slides, RO line
GroBBe Lénge Normaler Langer Hohe  Hohe m.T-Nuten Maogliches Gewicht GewichtmitT-Nuten ~Gewicht  Gewicht mit T-Nuten
Hub Hub Standard-Bohrbild
Size Length Standard Long Height Height incl. Possible standard Weight Weight incl. Weight Weight incl.
stroke stroke T-slots drilling plan T-slots T-slots
B L C C A A z 1 Ba* + Bi* kg (GG 25) kg (GG 25) kg (Al) kg (A1)
040 035 014 018 20 - 15x 1 10 1xa* 0,20 - 0,10 -
040 050 020 035 20 = 15x 2 10 1xa 0,30 = 0,15 =
040 065 026 050 20 - 15x 3 10 2xa 0,38 - 0,19 -
040 080 040 065 20 = 15x 4 10 3xa 0,47 = 0,27 =
040 095 050 085 20 - 15x 5 10 4xa 0,56 - 0,28 -
040 110 065 100 20 = 15x 6 10 5xa 0,64 = 0,32 =
040 125 080 120 20 - 15x 7 10 6xa 0,73 - 0,37 -
050 055 020 040 25 35 25x 1 15 1xa 0,44 0,60 0,24 0,30
050 080 030 060 25 35 25x 2 15 2xa 0,64 0,90 0,35 0,45
050 105 040 080 25 35 25x 3 15 3xa 0,84 1,15 0,46 0,58
050 130 050 100 25 35 25x 4 15 4xa 1,04 1,43 0,57 0,72
050 155 060 120 25 35 25x 5 15 5xa 1,25 1,70 0,68 0,87
050 180 075 150 25 35 25x 6 15 6xa 1,44 1,97 0,79 1,00
050 205 100 180 25 35 25x 7 15 7 xa 1,65 2,25 0,90 1,14
060 055 020 040 25 35 25x 1 15 1xa 0,53 0,73 0,28 0,36
060 080 030 060 25 35 25x 2 15 2xa 0,77 1,07 041 0,54
060 105 040 080 25 35 25x 3 15 2xa 1,02 1,40 0,54 0,69
060 130 050 100 25 35 25x 4 15 3xa 1,27 1,73 0,67 0,86
060 155 060 120 25 35 25x 5 15 4xa 1,50 2,07 0,80 1,02
060 180 075 150 25 35 25x 6 15 5xa 1,75 2,41 0,94 1,20
060 205 100 180 25 35 25x 7 15 5xa 2,00 2,75 1,06 1,36
060 255 125 200 25 35 25x 9 15 7xa 2,47 3,41 1,32 1,69
075 080 030 060 32 44 25x 2 15 1xa 1,23 1,69 0,62 0,851
075 105 040 080 32 44 25x 3 15 1xa 1,61 2,23 0,82 1,06
075 130 050 100 32 44 25x 4 15 1xa 2,00 2,76 1,02 1,32
075 155 060 120 32 44 25x 5 15 2xa 2,39 3,29 1,22 1,57
075 180 075 150 32 44 25x 6 15 2xa 2,77 3,82 1,40 1,82
075 205 100 180 32 44 25x 7 15 3xa 3,16 4,35 1,60 2,08
075 255 125 200 32 44 25x 9 15 3xa 3,93 5,42 2,00 2,59
075 305 150 250 32 44 25x 11 15 4xa 4,70 6,47 2,39 3,09
100 110 030 050 40 50 50x 1 30 1xa 2,92 3,57 1,59 1,84
100 160 060 105 40 50 50x 2 30 1xa 428 522 2,34 2,71
100 210 080 160 40 50 50x 3 30 2xa 5,65 6,88 3,10 3,59
100 260 110 210 40 50 50x 4 30 2xa 7,00 8,54 3,85 4,45
100 310 160 260 40 50 50x 5 30 3xa 8,37 10,20 4,61 5,33
100 360 210 310 40 50 50x 6 30 4xa 9,73 11,85 5,36 6,20
100 410 260 360 40 50 50x 7 30 4xa 11,10 13,51 6,12 7,08
100 510 310 460 40 50 50x 9 30 5xa 13,82 16,83 7,63 8,82
150 160 050 075 50 66 100x 1 30 1xa 8,63 11,13 4,87 5,86
150 210 100 160 50 66 100x 1 55 1xa 10,79 13,92 6,09 7,33
150 310 150 260 50 66 100x 2 55 2xa 15,99 20,61 9,06 10,89
150 410 200 360 50 66 100x 3 55 3xa 21,19 27,29 12,01 14,44
150 510 250 460 50 66 100x 4 55 3xa 26,39 33,99 14,98 17,99
150 610 300 560 50 66 100x 5 55 4xa 31,58 40,67 17,93 21,54
150 710 350 660 50 66 100x 6 55 5xa 36,78 47,36 20,90 25,10
150 810 400 760 50 66 100x 7 55 6xa 41,99 54,15 23,86 28,65
200 210 100 160 60 75 100 x 1 55 I1xa 17,45 21,49 8,74 10,34
200 310 150 260 60 75 100x 2 55 1xa 25,83 31,78 12,96 15,33
200 410 200 360 60 75 100x 3 55 2xa 34,19 42,07 17,18 20,31
200 510 250 460 60 75 100x 4 55 2xa 42,56 52,37 21,40 25,29
200 610 300 560 60 75 100x 5 55 3xa 50,93 62,65 25,62 30,27
200 710 350 660 60 75 100x 6 55 4xa 59,30 72,95 29,84 35,26
200 810 400 760 60 75 100x 7 55 4xa 67,68 83,24 34,07 40,25
Bestelldaten Seite 38 *Bohrbild — Ba (AuBenteil) und Bi (Innenteil) — siehe Seite 36
Order code see page 38 Drilling plan - Ba (exterior part) and Bi (interior part) - see page 36

15



2. Rollen-Schlitten | Roller slides

2.2 RE
mit Endplatten
2.3 RS

with end plates
P mit Spindel

with spindle

MaBtabelle BaugréBen 40 - 100 | Size table, sizes 40 - 100

GroBBe Lénge Hub Hohe  Hohe m. T-Nuten
Size Length Stroke Height Height incl.
T-slots

B L C C1 L1 A A N D (o] o1 R S T
040 045 010 2,5 030 20 - M3 13,0 12 12 3 - 16,0
040 070 020 2,5 045 20 = M3 13,0 12 12 3 = 16,0
040 080 030 2,5 045 20 - M3 13,0 12 12 3 - 16,0
040 090 025 2,5 060 20 = M3 13,0 12 12 3 = 16,0
040 090 040 2,5 045 20 — M3 13,0 12 12 3 - 16,0
040 120 040 25 075 20 = M3 13,0 12 12 3 = 16,0
040 130 050 2,5 075 20 - M3 13,0 12 12 3 - 16,0
040 155 060 25 090 20 - M3 13,0 12 12 3 - 16,0
040 185 075 2,5 105 20 - M3 13,0 12 12 3 - 16,0
050 075 020 2,5 050 25 35 M3 17,0 19 14 6 47 23,5
050 105 025 2,5 075 25 35 M3 17,0 19 14 6 47 235
050 130 025 2,5 100 25 35 M3 17,0 19 14 6 47 23,5
050 155 025 2,5 125 25 35 M3 17,0 19 14 6 47 23,5
050 155 050 2,5 100 25 35 M3 17,0 19 14 6 47 23,5
050 180 050 2,5 125 25 35 M3 17,0 19 14 6 47 23,5
050 180 075 2,5 100 25 35 M3 17,0 19 14 6 47 235
050 205 050 2,5 150 25 35 M3 17,0 19 14 6 47 23,5
050 205 075 2,5 125 25 35 M3 17,0 19 14 6 47 23,5
060 075 020 2,5 050 25 35 M4 17,0 19 14 6 47 23,5
060 105 025 2,5 075 25 35 M4 17,0 19 14 6 47 23,5
060 130 025 2,5 100 25 35 M4 17,0 19 14 6 47 235
060 155 025 2,5 125 25 35 M4 17,0 19 14 6 47 23,5
060 155 050 2,5 100 25 35 M4 17,0 19 14 6 47 23,5
060 180 050 25 125 25 35 M4 17,0 19 14 6 47 235
060 180 075 2,5 100 25 35 M4 17,0 19 14 6 47 23,5
060 205 050 2,5 150 25 35 M4 17,0 19 14 6 47 23,5
060 205 075 2,5 125 25 35 M4 17,0 19 14 6 47 23,5
060 255 050 2,5 200 25 35 M4 17,0 19 14 6 47 23,5
060 255 100 2,5 150 25 35 M4 17,0 19 14 6 47 235
075 105 025 2,5 075 32 44 M5 21,0 21 15 6 47 30,0
075 130 025 2,5 100 32 44 M5 21,0 21 15 6 47 30,0
075 155 025 25 125 32 44 M5 21,0 21 15 6 47 30,0
075 155 050 2,5 100 32 44 M5 21,0 21 15 6 47 30,0
075 180 050 25 125 32 44 M5 21,0 21 15 6 47 30,0
075 180 075 2,5 100 32 44 M5 21,0 21 15 6 47 30,0
075 205 050 2,5 150 32 44 M5 21,0 21 15 6 47 30,0
075 205 075 25 125 32 44 M5 21,0 21 15 6 47 30,0
075 255 050 2,5 200 32 44 M5 21,0 21 15 6 47 30,0
075 255 100 2,5 150 32 44 M5 21,0 21 15 6 47 30,0
075 305 050 2,5 250 32 44 M5 21,0 21 15 6 47 30,0
075 305 100 2,5 200 32 44 M5 21,0 21 15 6 47 30,0
075 305 125 25 175 32 44 M5 21,0 21 15 6 47 30,0
100 135 025 5,0 100 40 50 Meé 27,5 21 15 6 47 30,0
100 160 050 5,0 100 40 50 M6 27,5 21 15 6 47 30,0
100 210 050 50 150 40 50 M6 27,5 21 15 6 47 30,0
100 260 050 5,0 200 40 50 M6 27,5 21 15 6 47 30,0
100 260 100 50 150 40 50 M6 27,5 21 15 6 47 30,0

Standardausfihrung aus Crauguss 25 Weitere GréRen und Ldngen Seite 18 und 19

Standard type made of grey cast iron (GG 25) Further sizes and lengths page 18 and 19

16



2. Rollen-Schlitten | Roller slides

2.5 RK
mit Kreuzkurbel

2.4 RM

o with cross type
mit Mikrometerrandel bp

handle
with knurled micrometer
knob

Spindel Mogl. Stand.-Bohrbild  Gewicht GewichtmitT-Nuten ~Gewicht  Gewicht mit T-Nuten
Spindle Possible standard Weight Weight incl. Weight Weight incl.
drilling plan T-slots T-slots

U1 u2 U3 v z 71 Ba* Bi* kg (GG25) kg(GG25) kg (Al kg (AI)
- 24 - - M5 x 0,5 15x1 15,0 1xa* 1xa 0,34 - 0,23 -
= 24 = = M5 x 0,5 15x2 20,0 1xa 2xa 0,45 = 0,28 =
- 24 - - M5 x 0,5 15x 2 25,0 3xa 2xa 0,48 - 0,30 -
= 24 = = M5 x 0,5 15x3 22,5 4xa 3xa 0,55 = 0,34 =
— 24 - — M5 x 0,5 15x2 30,0 3xa 2xa 0,50 — 0,31 -
= 24 = = M5 x 0,5 15x 4 30,0 5xa 4xa 0,68 = 0,40 =
- 24 - - M5 x 0,5 15x 4 35,0 5xa 4xa 0,70 - 0,41 -
= 24 = = M5 x 0,5 15x5 40,0 8xa 5xa 0,82 = 0,47 =
- 24 - - M5 x 0,5 15x 6 47,5 9xa 6xa 0,94 - 0,52 -
51 31 = = Mé6 x 1,0 25x 1 25,0 2xa 1xa 0,84 1,08 0,59 0,68
51 31 - - M6 x 1,0 25x2 27,5 3xa 2xa 1,02 1,33 0,69 0,81
51 31 = = M6 x 1,0 25x3 27,5 4xa 3xa 1,23 1,60 0,80 0,95
51 31 - - M6 x 1,0 25x 4 27,5 5xa 4xa 1,44 1,87 0,91 1,09
51 31 = = M6 x 1,0 25x3 40,0 5xa 3xa 1,31 1,76 0,84 1,02
51 31 - — M6 x 1,0 25x 4 40,0 6xa 4xa 1,50 2,03 1,02 1,16
51 31 = = M6 x 1,0 25x 3 52,5 6xa 3xa 1,39 1,91 0,95 1,08
51 31 - - M6 x 1,0 25x5 40,0 7xa 5xa 1,71 2,31 1,06 1,30
51 31 = = M6 x 1,0 25x 4 52,5 7xa 4xa 1,60 2,19 0,99 1,22
51 31 - - M6 x 1,0 25x1 25,0 T1xa T1xa 0,98 1,27 0,66 0,78
51 31 = = M6 x 1,0 25x2 27,5 2xa Txa 1,20 1,58 0,79 0,94
51 31 - - M6 x 1,0 25x 3 27,5 3xa 2xa 1,45 1,91 0,91 1,10
51 31 = = M6 x 1,0 25x 4 27,5 4xa 3xa 1,70 2,24 1,03 1,26
51 31 - - M6 x 1,0 25x 3 40,0 4xa 2xa 1,55 2,11 0,96 1,19
51 31 = = M6 x 1,0 25x4 40,0 5xa 3xa 1,80 2,45 1,10 1,36
51 31 - - M6 x 1,0 25x 3 52,5 5xa 2xa 1,66 2,31 1,08 1,28
51 31 = = M6 x 1,0 25x5 40,0 5xa 4xa 2,05 2,79 1,23 1,52
51 31 - - M6 x 1,0 25x 4 52,5 5xa 3xa 1,91 2,65 1,15 1,44
51 31 = = M6 x 1,0 25x7 40,0 7xa 5xa 2,53 3,45 1,49 1,85
51 31 - - M6 x 1,0 25x5 65,0 7 xa 4xa 2,26 3,18 1,33 1,69
54 38 31 5h7 M10x 1,0 25x2 27,5 1xa Txa 2,00 2,60 1,30 1,54
54 38 31 5h7 M10x 1,0 25x 3 27,5 Txa 1xa 2,39 3,14 1,50 1,80
54 38 31 5h7 M10x 1,0 25x 4 27,5 1xa 1xa 2,77 3,67 1,70 2,05
54 38 31 5h7 M10x 1,0 25x 3 40,0 Txa Txa 2,58 3,47 1,59 1,95
54 38 31 5h7 M10x 1,0 25x 4 40,0 2xa 1xa 2,96 4,00 1,78 2,20
54 38 31 5h7 M10x 1,0 25x3 52,5 2xa 1xa 2,76 3,88 1,68 2,10
54 38 31 5h7 M10x 1,0 25x5 40,0 2xa 2xa 3,35 4,53 1,98 2,45
54 38 31 5h7 M10x 1,0 25x 4 52,5 2xa 1xa 3,15 4,34 1,88 2,35
54 38 31 5h7 M10x 1,0 25x7 40,0 3xa 3xa 4,12 5,59 2,38 2,96
54 38 31 5h7 M10x 1,0 25x5 65,0 3xa 2xa 3,73 521 2,17 2,76
54 38 31 5h7 M10x 1,0 25x9 40,0 4xa 3xa 4,89 6,65 2,77 3,47
54 38 31 5h7 M10x 1,0 25x7 65,0 4xa 3xa 4,50 6,26 2,56 3,26
54 38 31 5h7 M10x 1,0 25x6 77,5 4xa 2xa 4,32 6,07 2,46 3,16
54 38 31 5h7 M10x 1,0 50x1 42,5 Txa Txa 3,94 4,73 2,47 2,78
54 38 31 5h7 M10x 1,0 50x 1 55,0 1xa 1xa 4,22 514 2,59 2,96
54 38 31 5h7 M10x 1,0 50x2 55,0 1xa 1xa 5,58 7,20 3,35 3,84
54 38 31 5h7 M10x 1,0 50x 3 55,0 2xa 2xa 6,94 8,44 4,10 4,70
54 38 31 5h7 M10x 1,0 50 x 2 80,0 2xa 1xa 6,13 7,63 3,60 4,20

Bestelldaten Seite 38 *Bohrbild — Ba (AuRenteil) und Bi (Innenteil) — siehe Seite 36

Order code see page 38 Drilling plan - Ba (exterior part) and Bi (interior part) - see page 36

17



2. Rollen-Schlitten | Roller slides

2.2 RE
mit Endplatten

with end plates

MaBtabelle BaugréBen 150-300 1 Size table, sizes 150 - 300

GroBBe
Size

100
100
100
100
100
100
100
100
100
150
150
150
150
150
150
150
150
150
150
150
150
150
150
150
200
200
200
200
200
200
200
200
200
200
200
200
200
200

Standardausfiihrung aus Grauguss 25

Linge
Length

L

310
310
360
360
410
410
510
510
510
210
260
310
360
410
460
510
510
610
610
710
710
810
810
810
260
310
360
410
460
510
510
610
610
710
710
810
810
810

Hub
Stroke

C

050
100
100
150
100
150
100
150
200
050
050
100
150
100
150
100
200
200
300
200
300
200
300
400
050
100
150
100
150
100
200
200
300
200
300
200
300
400

Standard type made of grey cast iron (GG 25)

C1

5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0
5,0

L1

250
200

200
300
250
400

300
150
200
200
200
300
300
400
300
400
300
500
400
600
500
400
200
200
200
300
300
400
300
400
300
500
400
600
500
400

Hohe
Height

A

40
40
40
40
40
40
40
40
40
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
60
60
60
60
60
60
60
60
60
60
60
60
60
60

Hahe m. T-Nuten
Height incl.
T-slots

A

50
50
50
50
50
50
50
50
50
66
66
66
66
66
66
66
66
66
66
66
66
66
66
66
75
75
75
75
75
75
75
75
75
75
75
75
75
75

18

23RS

mit Spindel

with spindle

M6

M6

M6

M6

M6

M6

M6

M6

M6

m8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
ms
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8

27,5
27,5
27,5
27,5
27,5
27,5
27,5
27,5
275
35,5
355
35,5
355
355
35,5
355
355
35,5
355
35,5
355
35,5
355
35,5
40,0
40,0
40,0
40,0
40,0
40,0
40,0
40,0
40,0
40,0
40,0
40,0
40,0
40,0

21
21
21
21
21
21
21
21
21
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28

o1

15
15
15
15
15
15
15
15
15
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16
16

0O CO 00 CO OO GO GO GO OO OO OO OO OO €0 00 Q0 00 00 00 00 00 00 00 0 G0 W W W @ D D DD DD D D D

47
47
47
47
47
47
47
47
47
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103

30,0
30,0
30,0
30,0
30,0
30,0
30,0
30,0
30,0
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47
47



2. Rollen-Schlitten | Roller slides

2.5 RK
mit Kreuzkurbel
2.4 RM

-+ 1 with cross type
mit Mikrometerrandel

handle

with knurled micrometer
knob

Spindel Mogl. Stand.-Bohrbild ~ Gewicht  Gewicht mit T-Nuten ~ Gewicht  Gewicht mit T-Nuten
Spindle Possible standard Weight Weight incl. Weight Weight incl.
drilling plan T-slots T-slots
U1 U2 u3 Vv z 71 Ba* Bi* kg (GG 25) kg (GG 25) kg (Al) kg (Al)
54 38 31 5h7 M10x 1,0 50x 4 55,0 3xa 2xa 8,31 10,10 4,86 5,58
54 38 31 5h7 M10 x 1,0 50x3 80,0 3xa 2xa 7,49 9,29 4,36 5,07
54 38 31 5h7 M10x 1,0 50 x 4 80,0 3xa 2xa 8,85 10,93 511 5,94
54 38 31 5h7 M10 x 1,0 50x3 105,0 3xa 2xa 8,04 10,12 4,61 5,43
54 38 31 5h7 M10x 1,0 50 x 5 80,0 4xa 3xa 10,22 12,59 5,87 6,81
54 38 31 5h7 M10x 1,0 50x 4 105,0 4xa 2xa 9,41 11,78 5,37 6,31
54 38 31 5h7 M10 x 1,0 50x 7 80,0 5xa 4xa 12,94 15,89 7,39 8,56
54 38 31 5h7 M10x 1,0 50 x 6 105,0 5xa 3xa 12,13 15,08 6,88 8,05
54 38 31 5h7 M10x 1,0 50x 5 130,0 5xa 3xa 11,32 14,27 6,37 7,54
92 53 40 10h7 Tr16x2 100 x 1 55,0 1xa 1xa 10,68 13,78 6,58 7,81
92 53 40 10h7 Tr16x2 100 x 1 80,0 1xa 1xa 13,91 17,74 8,69 10,21
92 53 40 10h7 Tr16x2 100 x 1 105,0 2xa 1xa 14,94 19,50 9,16 10,98
92 53 40 10h7 Tr16x2 100 x 1 130,0 2xa Txa 15,94 21,25 9,63 11,74
92 53 40 10h7 Tr16x2 100 x 2 105,0 3xa 2xa 20,12 26,17 12,12 14,52
92 53 40 10h7 Tr16x2 100 x 2 130,0 3xa 2xa 21,14 27,92 12,59 15,28
92 53 40 10h7 Tr16x2 100x 3 105,0 3xa 2xa 25,33 32,85 15,08 18,07
92 53 40 10h7 Tr16x2 100 x 2 155,0 3xa 2xa 22,16 29,68 13,07 16,05
92 53 40 10h7 Tri6x2 100x 3 155,0 4xa 2xa 27,35 36,35 16,02 19,59
92 53 40 10h7 Tr16x2 100 x 3 155,0 4xa 2xa 24,19 33,18 14,00 17,58
92 53 40 10h7 Tr16x2 100 x 4 155,0 5xa 3xa 32,55 43,02 18,99 23,14
92 53 40 10h7 Tr16x2 100 x 3 205,0 5xa 2xa 29,39 39,86 16,97 21,13
92 53 40 10h7 Tri6x2 100 x 5 155,0 6xa 4xa 37,76 49,70 21,95 26,70
92 53 40 10h7 Tr16x2 100 x 4 205,0 6xa 3xa 34,59 47,54 19,93 24,68
92 53 40 10h7 Tr16x2 100 x 5 155,0 6xa 2xa 31,43 43,37 17,92 22,66
92 53 40 10h7 Tr16x2 100 x 1 80,0 1xa Txa 21,59 26,54 12,01 13,98
92 53 40 10h7 Tr16x2 100 x 1 105,0 1xa 1xa 2321 29,12 12,73 15,08
92 53 40 10h7 Tr16x2 100 x 1 130,0 2xa 1xa 24,82 31,69 13,44 16,16
92 53 40 10h7 Triex2 100 x 2 105,0 2xa Txa 31,57 39,39 16,95 20,05
92 53 40 10h7 Tr16x2 100 x 2 130,0 2xa 1xa 33,19 41,96 17,65 21,14
92 53 40 10h7 Tri6x2 100 x 3 105,0 2xa 2xa 39,95 49,67 21,17 25,03
92 53 40 10h7 Tri6x2 100 x 2 155,0 2xa 1xa 34,81 44,53 18,37 22,23
92 53 40 10h7 Tr16x2 100 x 3 155,0 3xa 2xa 43,18 54,81 22,58 27,20
92 53 40 10h7 Tr16x2 100 x 3 155,0 3xa 1xa 38,04 49,67 19,78 24,40
92 53 40 10h7 Tri6x2 100 x 4 155,0 4xa 2xa 51,55 65,09 26,81 32,19
92 53 40 10h7 Tr16x2 100 x 3 205,0 4xa 2xa 46,41 59,95 24,01 29,39
92 53 40 10h7 Tri6x2 100 x 5 155,0 4xa 3xa 59,92 75,37 31,03 37,17
92 53 40 10h7 Tr16x2 100 x 4 205,0 4xa 2xa 54,79 70,23 28,23 34,37
92 53 40 10h7 Tr16x2 100 x 5 155,0 4xa 2xa 49,65 65,09 25,43 31,57
Bestelldaten Seite 38 *Bohrbild — Ba (AuBenteil) und Bi (Innenteil) — siehe Seite 36
Order code see page 38 Drilling plan - Ba (exterior part) and Bi (interior part) - see page 36

19



3. Rollen-Schlitten in abgedichteter Ausfiihrung |

Roller slides, sealed models

GroBe Ldnge Hub Hohe
Size Length Stroke Heigh
B L C L1 A
040 045 010 034 20
040 070 020 049 20
040 080 030 049 20
RA 040 090 025 064 20
040 090 040 049 20
040 120 040 079 20
Rollengelagerter Schlitten in g:g gg 828 8;2 58
abgedichteter Ausfiihrung. 030 185 075 109 20
Die Standardausfuhrung ist mit einer 050 075 020 054 25
Spaltdichtung (ca. 0,5 mm) versehen. 050 105 025 079 25
Sonderausfiihrungen mit Filz- oder Nylon- 050 130 025 104 5
Abstreifern sind moglich. 050 155 025 129 25
050 155 050 104 25
Roller slides, sealed models 050 180 050 129 25
The standard type is equipped with a gap seal (approx. 050 180 075 104 25
0.5 mm). Special types with felt or nylon scrapers are 050 205 050 154 25
possible, too. 050 205 075 129 25
060 075 020 054 25
060 105 025 079 25
060 130 025 104 25
060 155 025 129 25
060 155 050 104 25
060 180 050 129 25
060 180 075 104 25
060 205 050 154 25
060 205 075 129 25
060 255 050 204 25
060 255 100 154 25
075 105 025 079 32
075 130 025 104 32
075 155 025 129 32
075 155 050 104 32
075 180 050 129 32
075 180 075 104 32
075 205 050 154 32
075 205 075 129 32
075 255 050 204 32
075 255 100 154 32
075 305 050 254 32
075 305 100 204 32
075 305 125 179 32
100 135 025 108 40
100 160 050 108 40
100 210 050 158 40
100 260 050 208 40
100 260 100 158 40
<< 100 310 050 258 40
100 310 100 208 40
100 360 100 258 40
100 360 150 208 40
100 410 100 308 40
150 210 050 158 50
150 260 050 208 50
150 310 100 208 50
150 360 150 208 50
150 410 100 308 50
150 460 150 308 50
150 510 100 408 50
150 510 200 308 50
150 610 200 408 50
200 260 050 208 60
200 310 100 208 60
200 360 150 208 60
200 410 100 308 60
200 460 150 308 60
200 510 100 408 60
200 510 200 308 60
200 610 200 408 60

Bestelldaten Seite 38
Order code see page 38

20



3. Rollen-Schlitten in abgedichteter Ausfiihrung |

Roller slides, sealed models

Hohe m. T-Nuten Maogl. Stand.-Bohrbild  Gewicht GewichtmitT-Nuten Gewicht Gewicht mit T-Nuten
,‘ Height incl. Possible standard Weight Weight incl. Weight Weight incl.

T-slots drilling plan T-slots T-slots
A L2 F N R z 1 2 Ba* Bi*  kg(GG25) kg(GG25) kg (Al) kg (Al)
- 061 6,5 6 3 15x1 15,0 28,0 1xa* 3xa 0,32 - 0,17 -
= 096 6,5 6 3 15x 2 20,0 28,0 3xa 5xa 0,46 = 0,23 =
- 116 6,5 6 3 15x2 25,0 28,0 3xa 7xa 0,52 - 0,26 -
- 121 6,5 6 3 15x3 22,5 28,0 4xa 7xa 0,57 - 0,28 -
- 136 6,5 6 3 15%2 30,0 28,0 3xa 8xa 0,58 - 0,28 -
- 166 6,5 6 3 15x4 30,0 28,0 5xa 10xa 0,74 - 0,36 -
- 186 6,5 6 3 15 x 4 35,0 28,0 5xa 11xa 0,80 - 0,38 -
= 221 6,5 6 3 15x5 40,0 28,0 8xa 14 xa 1,00 = 0,47 -
- 266 6,5 6 3 15x6 47,5 28,0 9xa 17 xa 1,12 - 0,52 -
35 107 7,5 8 6 25x1 25,0 37,5 2xa 3xa 0,77 1,05 0,43 0,52
35 142 7.5 8 6 25x2 27,5 37,5 3xa 4xa 0,98 1,33 0,54 0,66
35 167 7,5 8 6 25x3 27,5 37,5 4xa 5xa 1,17 1,60 0,65 0,79
35 192 7.5 8 6 25x 4 27,5 37,5 5xa 6xa 1,37 1,86 0,75 0,92
35 217 7,5 8 6 25x3 40,0 37,5 5xa 7xa 1,38 1,88 0,73 0,90
35 242 7,5 8 6 25 x 4 40,0 37,5 6xa 8xa 1,58 2,15 0,83 1,03
35 267 7.5 8 6 25x3 52,5 37,5 6xa 9xa 1,59 2,16 0,81 1,01
35 267 7.5 8 6 25x5 40,0 37,5 7xa 9xa 1,77 2,41 0,94 1,17
35 292 7,5 8 6 25x4 52,5 375 7xa 10xa 1,79 2,43 0,92 1,14
35 107 7,5 8 6 25x1 25,0 43,0 1xa 2xa 1,14 1,48 0,72 0,83
35 142 7.5 8 6 25x2 27,5 43,0 2xa 3xa 1,60 2,04 1,06 1,20
35 167 7,5 8 6 25x 3 27,5 43,0 3xa 4xa 2,05 2,57 1,39 1,57
35 192 75 8 6 25x 4 27,5 43,0 4xa 5xa 2,50 3,11 1,73 1,94
35 217 75 8 6 25x3 40,0 43,0 4xa 6xa 2,31 2,92 1,50 1,71
35 242 75 8 6 25x4 40,0 43,0 5xa 6xa 2,75 3,46 1,83 2,08
35 267 75 8 6 25x3 52,5 43,0 5xa 7xa 2,56 3,27 1,60 1,85
35 267 7,5 8 6 25x5 40,0 43,0 5xa 7xa 3,20 4,00 2,17 2,45
35 292 7,5 8 6 25x 4 52,5 43,0 5xa 8xa 3,01 3,81 1,93 2,22
35 317 75 8 6 25x%x7 40,0 43,0 7xa 9xa 4,10 5,08 2,84 3,19
35 367 7,5 8 6 25x5 65,0 43,0 7xa 10xa 3,72 4,69 2,37 2,73
44 142 10,5 8 6 25x2 27,5 52,0 = 2xa 1,84 2,53 0,93 1,17
44 167 10,5 8 6 25x 3 27,5 52,0 1xa 2xa 2,20 3,03 1,09 1,39
44 192 10,5 8 6 25x 4 27,5 52,0 1xa 2xa 2,56 3,54 1,26 1,62
44 217 10,5 8 6 25x%x3 40,0 52,0 Txa 3xa 2,64 3,62 1,27 1,63
44 242 10,5 8 6 25x 4 40,0 52,0 2xa 3xa 3,00 413 1,44 1,86
44 267 10,5 8 6 25x3 52,5 52,0 2xa 4xa 3,09 4,21 1,45 1,87
44 267 10,5 8 6 25x5 40,0 52,0 2xa 4xa 3,36 4,63 1,61 2,09
44 292 10,5 8 6 25x4 52,5 52,0 2xa 4xa 3,45 4,72 1,62 2,10
44 317 10,5 8 6 25x7 40,0 52,0 3xa 4xa 4,08 5,63 1,95 2,55
44 367 10,5 8 6 25x5 65,0 52,0 3xa 5xa 4,25 581 1,96 2,56
44 367 10,5 8 6 25x9 40,0 52,0 4xa 5xa 4,79 6,64 2,28 3,00
44 417 10,5 8 6 25x7 65,0 52,0 4xa 6xa 497 6,81 2,30 3,02
44 442 10,5 8 6 25x6 77,5 52,0 4xa 6xa 5,06 6,90 2,31 3,03
50 172 12,0 11 6 50x 1 42,5 74,0 T1xa 1xa 4,09 4,96 2,28 2,57
50 222 12,0 11 6 50 x 1 55,0 74,0 1xa 2xa 477 5,78 2,55 2,90
50 272 12,0 11 6 50 x 2 55,0 74,0 1xa 3xa 6,03 7,34 3,21 3,67
50 322 12,0 11 6 50 % 3 55,0 74,0 2xa 3xa 7,30 8,90 3,87 4,45
50 372 12,0 11 6 50 x 2 80,0 74,0 2xa 4xa 7,39 8,98 3,75 4,33
50 372 12,0 11 6 50 x 4 55,0 74,0 3xa 4xa 8,57 10,45 4,53 522
50 422 12,0 11 6 50 x 3 80,0 74,0 3xa 4xa 8,65 10,54 4.41 5,10
50 472 12,0 11 6 50 x 4 80,0 74,0 3xa 5xa 9,92 12,10 5,07 5,80
50 522 12,0 11 6 50 x 3 105,0 74,0 3xa 5xa 10,01 12,18 4,95 5,75
50 522 12,0 11 6 50x 5 80,0 74,0 4xa 5xa 11,19 13,65 573 6,65
66 276 14,0 15 8 100 x 1 55,0 108,0 1xa 1xa 10,16 13,56 5,95 713
66 326 14,0 15 8 100 x 1 80,0 108,0 1xa 2xa 14,84 18,97 8,57 10,04
66 426 14,0 15 8 100 x 1 105,0 108,0 2xa 3xa 17,25 22,12 9,53 11,29
66 526 14,0 15 8 100 x 1 130,0 108,0 2xa 3xa 19,65 25,26 10,48 12,54
66 526 14,0 15 8 100 x 2 105,0 108,0 3xa 3xa 22,22 28,56 12,26 14,61
66 626 14,0 15 8 100 x 2 130,0 108,0 3xa 4xa 24,62 31,71 13,22 15,86
66 626 14,0 15 8 100x 3 105,0 108,0 3xa 4xa 27,19 35,01 15,00 17,93
66 726 14,0 15 8 100 x 2 155,0 108,0 3xa 5xa 27,03 34,85 14,17 17,11
66 826 14,0 15 8 100 x 3 155,0 108,0 4xa 6xa 32,00 41,30 16,91 20,43
75 326 19,5 15 8 100 x 1 80,0 150,0 Txa 1xa 23,87 29,20 12,36 14,25
75 426 19,5 15 8 100 x 1 105,0 150,0 1xa 2xa 28,16 34,45 14,06 16,33
75 526 19,5 15 8 100 x 1 130,0 150,0 2xa 2xa 32,46 39,70 15,77 18,42
75 526 19,5 15 8 100 x 2 105,0 150,0 2xa 2xa 36,31 44,50 18,06 21,09
75 626 19,5 15 8 100 x 2 130,0 150,0 2xa 3xa 40,60 49,75 19,77 23,17
75 626 19,5 15 8 100 x 3 105,0 150,0 2xa 3xa 44,45 54,55 22,05 25,84
75 726 19,5 15 8 100 x 2 155,0 150,0 2xa 4xa 44,90 55,00 21,47 25,26
75 826 19,5 15 8 100x 3 155,0 150,0 3xa 4xa 53,05 65,05 25,47 30,01

*Bohrbild — Ba (AuBenteil) und Bi (Innenteil) — siche Seite 36
Drilling plan - Ba (exterior part) and Bi (interior part) - see page 36

21



4. Miniatur-Rollen-Schlitten | Miniature roller slides

Miniatur-Rollen-Schlitten sind offen oder mit
Endplatten lieferbar. Das AuRRenteil ist aus
Aluminium gefertigt, das Innenteil besteht aus
gehértetem Stahl. Mit Standardbohrbild.

The miniature roller slides can be delivered either as open
type or with end plates. The exterior part is made of alumi-
nium, the interior part consists of hardened steel.

With standard drilling pattern.

MOAN
offene Ausfuihrung open type
MEAN
mit Endplatten with end plates
Miniatur-Rollen-Schlitten, GrundmaRe fiir alle Baureihen
Miniature roller slides, basic sizes for all lines
GroBe
Size
B A D E F G H J K M N d
030 12 11,7 53 0,3 6 6,3 10,0 23,0 8,7 M3 2
040 15 14,7 6,3 03 8 83 14,4 33,8 10,7 M3 3
060 17 16,7 8,3 0,3 8 8,3 30,6 50,0 12,7 M3 3
4.1 Bohrbilder MOAN/MEAN Finzelnelt M/ML [ Deal byt Gy Firde
GroBe | Size L
60 L X Y
Drilling plans MOAN/MEAN 30 40 o Xty D
33 7 M) AuBenteil M
3.3, | q[‘ T I"’ 5 Tr_ Exterior part _'TI__ -
!Q %7— s °ls bI:v Hoo 1 — _w|_¢ 2
<| ] Yo I < L 7%* b[‘ > o |
El I‘; ° ‘E'I i i Iz € a; a, a; a | i#
EREAT
AT e
= : ! ai
Auflagefliche + PaBstifte ;7:%—‘ et “ u ! <+
Surface bearing + alignment pins M b, 1 _‘ﬁ _;_' T
[
INESEY
GroBe Lange Stand. Bohrbild
Size length Standard drilling patterns
AuBenteil Innenteil
Outside part Inside part
B L X Y b3 D MOAN MEAN a al a2 a3 b b1 b2 M M1
030 035 17,5 - - 57 2xa Txa - 10 20 - - 10 - - M3 x5 M4x33
030 050 25 - - 57 2xa 1xa - 10 20 - - 10 - - M3 x5 M4x33
030 065 25 15 - 57 2xal 3xa 1xa 10 20 - - 10 - - M3 x5 M4x33
030 080 25 30 = 57 2 xal 5xa 1xa 10 20 = = 10 = = M3 x5 M4x33
030 095 32,5 30 - 57 4 xal 7xa - 10 20 - - 10 - - M3 x5 M4x33
030 110 40 30 = 57 4 xal 7xa 3xa 10 20 = = 10 = = M3 x5 M4x33
030 125 47,5 30 - 57 4 xal 9xa 5xa 10 20 - - 10 - - M3 x5 M4x33
040 055 27,5 - - 5,7 2 x al T1xa - 20 20 - - 20 - - M3x6 M4x5
040 080 40 — — 57 2xal 1xa 1xa 20 20 - — 20 - - M3x6 M4x5
040 105 42,5 20 - 57 4 xal 3xa 1xa 20 20 - - 20 - - M3x6 M4x5
040 130 40 50 - 57 4 xal 5xa 1xa 20 20 - - 20 - - M3x6 M4x5
040 155 52,5 50 — 57 6xal 5xa 3xa 20 20 — — 20 — - M3x6 M4x5
060 055 27,5 - 18 5,7 1x a2 1xa2 - - - 18 18 - 36 18 M3x6 M4x5
060 080 25 30 18 57 3 xa2 1 xa3 = = = 18 36 = 36 18 M3x6 M4x5
060 105 52,5 - 18 57 5x a2 1xa3 1xa3 - - 18 36 - 36 18 M3x6 M4x5
060 130 65 = 18 57 5xa2 1xa3 1xa3 = = 18 36 = 36 18 M3x6 M4x5
060 155 52,5 50 18 57 7 xa2 3xa3 1xa3 — — 18 36 — 36 18 M3x6 M4x5
060 180 75 30 18 57 9xa2 3xa3 1xa3 - - 18 36 - 36 18 M3x6 M4x5
060 205 87,5 30 18 57 9 xa2 3xa3 1xa3 - - 18 36 - 36 18 M3x6 M4x5

22



Miniatur-Rollen-Schlitten, Baureihe MOAN
Miniature roller slides, MOAN line

GroBe
Size

030
030
030
030
030
030
030
040
040
040
040
040
060
060
060
060
060
060
060

Lange
Length

L

035
050
065
080
095
110
125
055
080
105
130
155
055
080
105
130
155
180
205

Normaler Hub
Standard stroke

C

012
018
024
030
040
050
060
020
030
040
050
060
020
030
040
050
060
080
100

Miniatur-Rollen-Schlitten, Baureihe MEAN
Miniature roller slides, MEAN line

GroBe
Size

030
030
030
030
040
040
040
040
060
060
060
060
060
060

Bestelldaten Seite 38
Order code see page 38

Linge
Length

L

065
080
110
125
080
105
130
155
105
130
155
180
180
205

Hub
Stroke

C

015
030
045
045
025
025
050
050
025
050
050
050
075
075

4. Miniatur-Rollen-Schlitten | Miniature roller slides

4.2 MOAN
offene Ausfiihrung
open type
Langer Hub Hoéhe
Long stroke Height
C L1 A z
020 030 12 15x 1
034 045 12 15x2
048 060 12 15x 3
064 075 12 15x 4
084 090 12 15x5
098 105 12 15x6
120 120 12 15x7
040 050 15 25x 1
060 075 15 25x2
080 100 15 25x3
100 125 15 25x 4
120 150 15 25x5
030 050 17 25x 1
060 075 17 25x2
080 100 17 25x 3
100 125 17 25x 4
120 150 17 25x5
140 175 17 25x6
160 200 17 25x7
4.3 MEAN
mit Endplatten
with end plates
Hohe
Height
L1 A [0} z
045 12 3 15x3
045 12 3 15x 4
060 12 3 15x6
075 12 3 15x7
050 15 3 25x2
075 15 3 25x 3
075 15 3 25x 4
100 15 3 25x5
075 17 3 25x3
075 17 3 25x4
100 17 3 25x5
125 17 3 25x6
100 17 3 25x6
125 17 3 25x7

23

1

10
10
10
10
15
15
15
15
15
15
15
15
15
15

71

10
10
10
10
10
10
10
15
15
15
15
15
15
15
15
15
15
15
15

2
17,5

32,5
325
275
27,5

27,5

52,5
52,5
52,5

3

15x2

15x3
15 x 4
25x 1
25x2

25x2

25x3
25x 3
25 x 4

2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5

2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5
2,5

Gewicht
Weight

kg

0,06
0,08
0,10
0,13
0,15
0,18
0,20
0,14
0,20
027
0,34
0,41
0,66
0,80
0,93
1,07
1,20
1,33
1,47

Gewicht
Weight

kg

0,07
0,08
0,10
0,13
0,13
0,18
021
0,25
0,33
0,37
0,46
0,55
0,50
0,59



5. Kreuzschlitten | Cross slides

Schwalbenschwanz-Schlitten

und Rollen-Schlitten konnen zu
Kreuztischen montiert werden.

Fur die Montage von Kreuzschlitten
benétigen wir folgende
Informationen:

Typ unterer Schlitten

(z.B. RMGN 100 0310 0100),
Typ oberer Schlitten

(z.B. RMGN 100 0135 0025),
Montageart (rechts oder links/
umgekehrt oder normal).

Bei aullermittiger Montage bendtigen
wir zusétzlich die MaRe A und B.

Rechts-Montage
Right-hand mounting

—

— =

y-Achse unten

Y axis at the bottom

m x-Achse
oben

X axis topside

Zustellseite bzw.
Arretierung

locking resp.
adjusting bar

24

The dovetail slides and the roller slides can
be assembled so as

to create cross slides. For the assembly of
cross tables using these components we are
in need of the following information:

type of lower slide

(e.g. RMGN 100 0310 0100),

type of upper slide

(e.g. RMGN 100 0135 0025),

type of assembly required (to the right or to
the left / reversed or normal).

In case of an assembly off-centre, we'd also
need sizes A and B.

Links-Montage
Left-hand mounting

-

Zustellseite bzw.
Arretierung

locking resp.
adjusting bar
y-Achse unten

Y axis at the bottom

x-Achse
oben

X axis topside



6. Toleranzen | Tolerances

Toleranzen und Ablaufgenauigkeiten Ablauftoleranzen,
fiir GG 25, bei Al + 50 % gemessen Uber den
gesamten Hub
Tolerances and travel accuracy
if made of grey cast iron (GG 25) and of alu- Travel tolerances measured
minium + 50 % over the whole stroke
1
a
b
Parallelitat in
Mittelstellung
Parallelism in
centre position
Rollengelagerte Schlitten
Slides running on roller bearings <
Schlittenlédnge Abweichungen in pm
Length of slide Deviations in pm
a b c d
- 100 mm 4 4 15 15
- 200 mm 4 6 20 20
- 400 mm 5 8 30 20
- 800 mm 7 10 40 20
-1000 mm 10 12 50 25
d
Schwalbenschwanz-Schlitten
Dovetail slides
Schlittenlinge Abweichungen in pm Auf Wunsch liefern er__auch m"ehrere Schlitten
Length of slide Deviations in um mit der gleichen Bauhéhe — Héhentoleranz
& b G d + 0,01 mm.
- 100 mm 8 10 20 20 If desired, we can also furnish several slides
- 200 mm 12 15 25 25 of the same overall height - height tolerance:
- 400 mm 18 22 35 25 0,01 mm.
- 800 mm 18 30 50 30
-1200 mm 30 40 65 40
Alle Toleranzen basieren auf Befestigung mit
unseren Bohrbildern, sowie einer An- und
Engere Toleranzen Fir die BaumaRe der Schlitten gelten die Auflagefléche mit einer Ebenheit von 0,01/200 mm.
auf Anfrage Grundtoleranzen IT 11 DIN ISO 286-1.
All tolerances indicated are operative only if mounted follo-
More exacting tolerances on As for the structural dimensions of wing our drilling plans supplied
demand slides, the basic tolerances specified in with the devices and only if a standard bearing surface of
IT 11 DIN ISO 286-1 have been complied with. 0,01,/ 200 mm is applied.

25



7. Ersatzteile | Spare parts

7.1 Kreuzrollen-
Fiihrungsschienen

TypR

Cross roller guide rails Type R

Unsere Kreuzrollen-Fuhrungsschienen sind garan-
tiert untereinander austauschbare Normelemente.
Sie finden Anwendung im Maschinen- und

Vorrichtungsbau, in der Mel3- und Kontrolltechnik.

lhre Vorteile sind hohe Belastbarkeit, dulerste

Leichtgangigkeit, kleiner Platzbedarf und lange

Lebensdauer.

Unsere Fuhrungen gestatten den Bau absolut

spielfreier, duRerst steifer und genauer linearer
Langsfuhrungen.

Einbauvorschrift:

Bei Einbau der Fuhrungsschienen ist darauf zu
achten, dal die Auflageflachen parallel und winklig
bearbeitet sind. Die Toleranzen der Auflage- bzw.
Montageflachen sollen den Fertigungstoleranzen
der Fihrungsschienen (Normalqualitat) entspre-
chen.

Die Vorspannung richtet sich nach den jeweiligen
Einbauverhéltnissen bzw. Starrheit der Schlitten-
Konstruktion. Wir empfehlen eine Vorspannung
zwischen 5 und 20% der max. Belastung. Die
Tragféhigkeit der kompletten Schlittenfihrung wird
auf jeden Fall um die eingestellte Vorspannung
gemindert.

QOur cross roller guide rails are freely interchangeable stan-
dard elements. They are on duty in different fields, such as
in the machine, jigs and fixtures construction as well as in
the measuring and control engineering business.

Able to carry high loads and running extremely smooth,
they require little space and are of a long serviceable life,
the chief advantages that characterise these guides.

Our guide rails allow the assembly of extremely rigid and
precise linear guides without any play.

Mounting instructions:

When mounting the guide rails make sure the bearing
surfaces have been machined in a parallel manner and are
to the angle. The tolerances of the bearing and mounting
surfaces shall conform to the process tolerances of the
guide rails (standard quality).

The prestress applied depends on the respective mounting
conditions, on the rigidity of the assembled slide structure
respectively. We recommend to apply a prestress equivalent
to a value between 5 and 20 % of the maximum admis-
sible load. However, the load carrying ability of the overall
guide rail structure thus realized will, at any case, be redu-
ced by the prestress applied.

For appropriate roller cages please refer to

page 29.
Passende Rollenkéfige finden Sie auf Seite 29.
pm Fertigungstoleranzen | Process tolerances
12
@ _—| Normalqualitdt
Normal quality
8
& Sonderqualitat
4 Special quality
2 —
0
0 200 400 600 800 1000 mm
Schienenldnge
Length of rail

26



7. Ersatzteile | Spare parts

K 1
! l I
M a (
J
B ZzH’ N\ - — F b ! r T —
/ o\ T i |
7 i 1L n
\ F
N J z | z z . Z
E - - - = -—
—
A L -
Bestell-Nr. Tragkraft Gewicht
pro Rolle  der Schiene
Order no. Carrying force  Weight of
per roller  the rail
DxL B L C A D y4 12 J E F F1 K M N kp
R2 030 6 30 2,5 12 2 1x 15 7,5 55 1,0 M3 22,55 4,4 2,2 60 0,008
R2 045 6 45 2,5 12 2 2x 15 75 5,5 1,0 M3 @255 44 22 60 0,011
R2 060 6 60 2,5 12 2 3x 15 7,5 55 1,0 M3 @2,55 4,4 2,2 60 0,014
R2 075 6 75 2,5 12 2 4x 15 75 5,5 1,0 M3 @255 44 22 60 0,017
R2 090 6 90 2,5 12 2 5x 15 7,5 55 1,0 M3 2,55 4,4 2,2 60 0,020
R2 105 6 105 2,5 12 2 6x 15 75 55 1,0 M3 2,55 4,4 2,72 60 0,023
R2 120 6 120 2,5 12 2 7x 15 75 5,5 1,0 M3 @255 44 22 60 0,026
R3 050 8 50 3,5 18 3 1x 25 12,5 83 1,0 M4 73,4 6,0 3,2 100 0,023
R3 075 8 75 35 18 3 2x 25 12,5 8,3 1,0 M4 23,4 6,0 3.2 100 0,034
R3 100 8 100 35 18 3 3x 25 12,5 83 1,0 M4 @3,4 6,0 32 100 0,045
R3 125 8 125 35 18 3 4x 25 12,5 83 1,0 M4 @3,4 6,0 3.2 100 0,056
R3 150 8 150 35 18 3 5x 25 125 83 1,0 M4 @34 6,0 32 100 0,067
R3 175 8 175 3,5 18 3 6x 25 12,5 83 1,0 M4 3,4 6,0 3,2 100 0,078
R3 200 8 200 35 18 3 7x 25 12,5 83 1,0 M4 23,4 6,0 3.2 100 0,089
R3 225 8 225 3,5 18 3 8x 25 125 83 1,0 M4 @3,4 6,0 32 100 0,100
R3 250 8 250 35 18 3 9x 25 12,5 83 1,0 M4 ?3,4 6,0 3,2 100 0,111
R3 275 8 275 3,5 18 3 10x 25 125 83 1,0 M4 @34 6,0 32 100 0,122
R3 300 8 300 3,5 18 3 11x 25 12,5 8,3 1,0 M4 @3,4 6,0 32 100 0,133
R6 100 15 100 6,0 31 6 1x 50 25,0 13,9 1,8 M6 25,4 10,0 5,2 400 0,145
R6 150 15 150 6,0 31 6 2x 50 250 139 1,8 M6 @5,4 10,0 5,2 400 0,220
R6 200 15 200 6,0 31 6 3x 50 25,0 13,9 1,8 M6 @5,4 10,0 52 400 0,295
R6 250 15 250 6,0 31 6 4x 50 250 139 1,8 M6 @5,4 10,0 5,2 400 0,370
R6 300 15 300 6,0 31 6 5x 50 25,0 13,9 1,8 M6 @5,4 10,0 52 400 0,445
R6 350 15 350 6,0 31 6 6x 50 25,0 13,9 1,8 M6 @5,4 10,0 52 400 0,520
R6 400 15 400 6,0 31 6 7x 50 250 139 1,8 M6 5,4 10,0 5,2 400 0,595
R6 450 15 450 6,0 31 6 8x 50 25,0 13,9 1,8 M6 @5,4 10,0 52 400 0,670
R6 500 15 500 6,0 31 6 9x 50 25,0 13,9 1,8 M6 25,4 10,0 5,2 400 0,745
R6 600 15 600 6,0 31 6 11x 50 250 139 1,8 M6 @5,4 10,0 5,2 400 0,815
R6 700 15 700 6,0 31 6 13x 50 250 13,9 1,8 M6 @5,4 10,0 52 400 1,010
R6 800 15 800 6,0 31 6 15x 50 250 13,9 1,8 M6 @5,4 10,0 5,2 400 1,160
R9 150 22 150 9,0 44 9 1x100 25,0 19,7 2,5 M8 26,8 11,5 6,2 1000 0,473
R9 200 22 200 9,0 44 9 1x100 50,0 19,7 25 M8 26,8 11,5 6,2 1000 0,630
R9 300 22 300 9,0 44 9 2x100 500 19,7 25 M8 76,8 1,5 6,2 1000 0,946
R9 400 22 400 9,0 44 9 3x 100 50,0 19,7 2,5 M8 26,8 11,5 6.2 1000 1,260
R9 500 22 500 9,0 44 9 4 x 100 50,0 19,7 2,5 M8 26,8 11,5 6,2 1000 1,575
R9 600 22 600 9,0 44 9 5x 100 500 19,7 2,5 M8 26,8 11,5 6,2 1000 1,892
R9 700 22 700 9,0 44 9 6x 100 50,0 19,7 2,5 M8 26,8 11,5 6,2 1000 2,205
R9 800 22 800 9,0 44 9 7x100 500 19,7 25 M8 76,8 11,5 6,2 1000 2,520
R9 900 22 900 9,0 44 9 8x 100 500 19,7 2,5 M8 26,8 11,5 6,2 1000 2,838
R9 1000 22 1000 9,0 44 9 9x 100 50,0 19,7 2,5 M8 26,8 11,5 6,2 1000 3,150

Bestelldaten: D x L — R2 030
Order code: D x L - R2 030

27



7. Ersatzteile | Spare parts

GroBe
Size

040
050
060
075
100
K 150
R 150
200

Al

28,0
37,5
430
52,0
74,0

114,0

108,0

150,0

7.1.1

Schienenbefestigungs- und
Zustellschrauben bei
Rollen-Schlitten

Fixing screw for rails and adjusting
screws for roller slides

B2

14,0
155
21,0
30,0
36,0
76,0
56,0
98,0

E1

M2
M3
M3
M3
M5
M5
M6
M6

E
DIN 912

M3
M4
M4
M4
M6
M6
M8
M8

Ausfiihrung “C”

Execution “C”

M N
10,0 M3
11,0 M3
11,0 M4
13,0 M5
19,5 M6
215 M6
245 M8
29,0 M8

28

Bohrungsabsténde in Langsrichtung
auf den Seiten 15, 17, 19
— siehe Werte Z und 71

Drill hole distances in lengthwise direction
indicated on pages 15, 17, 19 - see values
Zand Z1

Ausfiihrung “D”

B, _,[ DIN 912 Execution “D”

Standardausfihrungen

Schlitten-Typ:

R 40 — Ausfthrung D
RA-AuRenteil — Ausfihrung D
RA-Innenteil — Ausfthrung C
Rab Gr. 50 — Ausfthrung C
Standard models

Slide type:

RA 40 - Execution D

RA, exterior part - Execution D

RA, interior part - Execution C

R from size 50 on - Execution C



7. Ersatzteile | Spare parts

7.1.2
Endschrauben und
Endstiicke fiir Rollenkéfige

DD
fiir Rollenkéfig Typ RK und
for roller cages type RK and DD

DD

¥

Endsttick +
Zyl. Schraube

End piece +
i . fiir GroRe \% it fillister head screw
Tail screws and end pieces for DD: fir vertikalen Einbau for size
roller cages und schnelle Bewegung R DIN 84
DD:  for vertical installation
and for rapid motion fiir GroRe H Endsttick +
RK: fiir vertikalen Einbau for size Senkschraube
o vertial moun s H AR e
© for vertical mounting R 3 2 mm Y% O = End piece +
E g é mm countersunk screw
mm
DIN 7991
DM fur GroRe _l—_i, Endstiick +
fr langere Hibe und for size Senkschraube
groRere Belastungen P H
' . L@ / 5
for longer strokes and for R 6 3 mm ‘F E '\ End piece +
higher loads RS 3 mm 7 countersunk screw
Bestelldaten: Typ x GroRe DIN 7991
Order code: type x size
Ly L C C
7.2 Rollenkifige oo ' oM ! b
Rollenkafige fur vertika- Rollenkéfige fur lange
len Einbau und schnelle Hube und groke
Roller cages Bewegung C—~ a Belastungen C> 2
Roller cages for vertical installati- Roller cages for long strokes and
on and for fast motion strong loads
RK ¥
Rollenkafig far 1o
vertikalen Einbau
C—» a
Roller cages for
vertical installation
Sonderausfiihrungen
und andere Teilungen auf Anfrage. m
Berechnungsbeispiel: GroBe Typ DD, Typ DM Belastung C [N]
Anzahl der Rollen im Kafig: Size Type DD, Type DM Load C [N]
Fuhrungsschienenldnge - /> Hub Dx & b t Rolle
Teilung t Roller
R 2 2 45 0,5 4 60
Spe“cia';l| version and otther divisions R 3 3 7.5 1,0 5 100
avallable upon request.
Calculation example: R 6 6 15,0 2,4 RK'9, DD 12 400
Number of rollers in the cage: DM 12, K9
R 9 9 20,0 2,9 14 1000

Length of guide rail - /> stroke

Division, size t

29

Bestelldaten: Typ x D x Anzahl der Rollen (Kugeln)

Order code: type x D x number of rollers (balls)



7. Ersatzteile | Spare parts

d,

Gewinde Hub Steigungsgenauigk.
7.3 Gewinde- Thread Stroke Pitch accuracy
spindeln D d1 d2 d3 da A B C E F G ds
, M5 x 0,5 20 M4 - 47 6,0 70 320 55 - 30,0 - - T6
Threaded spindles M5x05 40 M4 = 47 60 90 520 55 - 300 - - 6
M5 x 0,5 50 M4 - 47 6,0 100 620 55 - 30,0 - - T6
M5 x 0,5 75 M4 = 4f7 6,0 125 870 55 = 30,0 = = T6
M6 x 1 25 5j5 - - 7,5 92 46,5 - - 38,5 - = T6
M6 x 1 50  5j5 - - 75 117 715 - - 38,5 - - T6
M6 x 1 75 5j5 - - 7,5 142 96,5 - - 38,5 - - 6
M6 x 1 100 5j5 = = 7,5 167 1215 = = 38,5 = = T6
M10x 1 25 5h7 M6x05 6g6 - 110 620 310 365 480 - - T6
M10x 1 50 5h7 M6x05 6g6 = 135 870 310 365 480 = = T6
M10x 1 75 5h7  M6x05 6g6 - 160 1120 310 365 480 - - T6
M10x 1 100 5h7 Mé6x05 6g6 = 185 1370 310 365 480 = = 6
M10x 1 150 5h7 M6x05 6g6 - 235 1870 310 365 480 - - T6
M10x1 200 5h7 M6x05 6g6 - 285 2370 310 365 480 - - T6
M10x 1 250 5h7 M6x05 686 - 335 2870 310 365 480 - - T6
TR16 x 2 50 10h7 MI12x1 12j5 16,0 175 1050 370 46,0 650 - - T8
TR16 x 2 100 10h7 MI12x1 12j5 16,0 225 1550 370 46,0 650 - - T8
TR16 x 2 150 10h7 MI12x1 12j5 16,0 275 2050 370 46,0 650 = = T8
TR1I6x2 200 10h7 MI12x1 125 160 325 2550 37,0 460 650 - - T8
TR16 x 2 250 10h7 M12x1 12j5 16,0 375 3050 370 46,0 650 = = T8
TR16 x 2 300 10h7 M12x 1 12j5 16,0 425 3550 370 46,0 650 - - T8
TR16 x 2 400 10h7 MI12x 1 12j5 16,0 525 4550 370 46,0 650 = = T8
TR16 x 2 500 10h7 M12x1 12j5 16,0 625 5550 370 46,0 650 - - T8
TRI6Xx2 600 10h7 MI12x1 12j5 160 725 6550 370 460 650  — = T8
TR20x4 100 12h7 MI14x1 155 205 245 1700 370 445 60,0 - - T4
TR20 x 4 150 12h7 M14x1 1555 205 295 2200 370 445 600 = = T4
TR20x4 200 12h7 MI14x1 155 205 345 2700 370 445 60,0 - - T4
TR20 x 4 300 12h7 MI14x1 1555 205 445 3700 370 445 600 12 10h7 T4
TR20x4 400 12h7 M14x1 155 205 545 4700 370 445 600 12  10h7 T4
TR20x4 500 12h7 MI14x1 155 205 645 5700 370 445 600 12  10h7 T4
TR20 x 4 600 12h7 M14x1 155 20,5 745 6700 370 445 600 12 10h7 T4
Spindelansétze fiir Spindel | Spindle seats
M5 x 0,5 d MI10 x 1 M6 x 1 d d Tr16 x 2/Tr20 x 4
ol sy + 4 eyt
S e o S e
ricl T T 1T i =0 T el 7
E E
F B F B F B F B G
A A A A //
Bestelldaten: Gewinde D x Hub; M5 x 0,5 x 20
Order code: thread D x stroke; M5 x 0.5 x 20
Gewinde
73.1 Thread
Muttern d3 D DI D2 B d2 de H HI H2 H3 L LI
Precision nuts M5x05 7h7 - B _ _ B _ _ _ _ 12 _
_ M6 x 1 97 - - - M8 x 1 - - - - - 20 5
Spindelmuttern aus Bronze, passend zu MIOx1 14g7 - _ . Ml4x1 _ _ _ _ _ 20 6
obenstehenden Spindeln TRI6X2 - 20 34 225 - Km4DIN74 115 285 60 1275 40 9
Precision spindle nuts suitable for the above listed TR20x4 - 26 49 303 - Km6DIN74 145 390 875 175 50 12
spindles.
GroBBe M5 - M10 | Size M5 - M10 GroBBe TR16/TR20 | Size TR16/TR20
—~ D, -
M |
— —— —— —— — [ 7 P ‘ /.//’F‘\;\ \ H,
d! D H B i \
N _d3 D1 H1 ' E beodh=o ll-r ‘0
\ I ly
'\.\\\ ’,’ K H,
N e
L, ! — [ [ de
L B

30

Bestelldaten: Gewinde D x Hub; M5 x 0,5 x 20
Order code: thread D x stroke; M5 x 0.5 x 20



8. Sonderausfiihrungen | Special executions

Die Betatigung erfolgt bei den GroRen 050, 060 With sizes 050, 060 and 075 activation is effected by means

und 075 Uber Kreuzmuttern, bei den GroélRen of cross nuts and with sizes 100, 150, 200, 300 and 400 by 8.1 Arretierung
100, 150, 200, 300 und 400 uber verstellbare means of an adjustable clamping lever. )

Klemmbhebel. Upon demand and against surcharge, sizes 150, 200, 300 ;

Die GréBen 150, 200, 300 und 400 sind auf and 400 can be delivered with pneumatic clamping mecha- Locking
Anfrage gegen Mehrpreis mit pneumatischer nism, too.

Klemmung lieferbar. Order code: see page 38

Bestelldaten: Seite 38

Breite
8.1.1 Width A B M N
Arretierung
Schwalbenschwanz-Schlitten 050 37 42 11,0 M5
075 38 42 14,5 M5
Dovetail slide locking 100 40 45 18,5 M6
150 45 62 22,5 M8
200 45 62 28,0 M8
300 55 74 38,0 M10
400 55 74 54,0 M10
Va
B
Die Arretierung der The dovetail slide is locked by means of
Schwalbenschwanz-Schlitten erfolgt an adjustable clamping lever, to say acting
Uber einen verstellbaren Klemm- directly on the adjusting bar.
hebel direkt auf die Zustell-Leiste.
Die Arretierung unserer Rollen- The locking of our roller bearing mounted
8.1.2 Schlitten gestattet ein Festklemmen slides allows to clamp the slide in every
Arretierung Rollen-Schlitten des Schlittens in jeder Position. position. No load is exerted to the guides
Eine Belastung der Fihrungen tritt thereby.
Roller slide locking dabei nicht auf.

size 040-060 with star handle
Realisierung der Arretierung size 075-200 with adjustable release handle
bei Grolle 040-060 Uber Kreuzgriff compound tables size 40 with cap nut SW7.
bei GroRe 075 bis 200 Uber verstell-

baren Klemmhebel

bei Kreuztisch GréRBe 040 tiber

Hutmutter SW7.

R
a Lo
. " J
’ M
Breite ‘\ r
Width A B M
040 19 10 9,0 \ B
050 19 10 12,5
060 19 10 12,5
075 37 42 14,5 <
100 37 42 19,0 A
150 49 67 20,5
200 49 67 30,5

31



8. Sonderausfiithrungen | Special executions

8.2 Abdichtung
durch Abstreifer

Sealing by means
of scrapers

8.3 Faltenbalg-Abdeckung

Bellows cover

Bei den Typen SE, SS, SM, SK sowie RE, RS, RM
und RK sind Faltenbalgabdeckungen maglich.
Beim Faltenbalganbau andert sich die
Endplattenstérke von MaR R auf O1 (siehe Seiten
8, 10, 16 und 18).

Die freie Montageflédche reduziert sich am Innenteil.

Bei SchlittengroRe 50 ist keine Schmierung moglich.

Bellows covers can be realized with types SE, SS, SM, SK as
well as with RE, RS, RM and RK.

In slides with bellows cover the endplate thickness changes
from measure R to O1 (see pages 8, 10, 16 and 18).

The free mounting area on the inside part is reduced.
Lubricating on slide size 50 is not possible.

Bei Faltenbélgen mit Stahllamellen verandert sich
abhéngig vom Hub die Bauhohe.

With bellows covers equipped with steel lamellas the overall
height of the structure will change depending on the stroke.

Bei den Typen SE, SM RE, RM sind Abstreifer
moglich. Der Schlitten muR daftr auf einer ebe-
nen Fldche montiert sein. Gerne berét Sie auch
unser Vertrieb.

Scrapers can be realized with types SE, SM, RE and RM. For
this purpose, the slide must be mounted on a plain surface.
QOur distribution service will be pleased to advise you.

BaugrdBen 50 - 75

Sizes 50 - 75
GroBBe
Size
B C A FA FB FB1
50 11 25 41 95 89
60 11 25 41 105 99
75 15 32 51 127 120

normal montiert N umgekehrt montiert U

mounted normal N \ mounted reversed U
C e i
|l= JL_[-__§_JI } (:L) 1:_ A
P | 1
FA I -
B
FB,
FB
Ab BaugroBe 100
From size 100 on
GroBe
Size
C A FA D FB FB1 FB2 FB3
100 21 40 62 5 160 124 153 124
150 21 50 78 5 224 194 217 174
200 31 60 88 15 274 244 267 224
300 46 75 103 30 374 344 367 324
400 71 100 128 55 474 444 467 424
normal montiert N FB umgekehrt montiert U
mounted normal N FB, mounted reversed U
D V
(o) E_" - — __
}ul\ ;ﬁk |
¢ SO
o M 1 F
FA i D

FBs

FB,

32



Sémitliche Schwalbenschwanz-
und Rollen-Schlitten sind mit

T-Nuten lieferbar.

Ausgenommen Breite 40, Miniatur-
Rollen-Schlitten und quadratische

Normschlitten.

8. Sonderausfiithrungen | Special executions

All dovetail and roller slides can, to the
exception of width 40 and of the miniature _
and square roller slide types, be delivered 8.4 T-Nuten

with T-slots.
T-slots

!V/ ‘ 050 _

G
Gr.
100 — )
150 T —
200 4 x
GroBe Stiick-TN
Size X T-slots, pcs. D E F G Gr.
050 - 1 6 6 11 12,5 300 7 : -
060 = 1 6 6 11 12,5 400 X
075 - 1 6 6 11 12,5
100 60 2 6 6 11 12,5 .
150 90 2 8 8 15 16,0 i ]
200 120 2 8 8 15 16,0 . .
300 2 x 100 3 10 10 19 20,0
400 2 x 150 3 14 10 24 24,0

Bestelldaten Seite 38
Order code see page 38

33



8. Sonderausfiihrungen | Special executions

8.5 Positionsanzeige PA

Position readout PA

Typeniibersicht | List of types

Spindelsteigung Anzeige nach einer
Umdrehung
Spindle lead Readout after one turn
1T mm 001,0
2 mm 002,0
4 mm 004,0
5 mm 005,0
Bestellschliissel
Pa04 04 2 _E_ ¢
Typ
Ausfuhrung
Spindelsteigung (mm)
Drehrichtung
| = rechts steigend
E = links steigend
Gehéusefarbe
O = orange
Order code
Pa04 04 2 _E_ K¢
Type
Version
Spindle lead (mm)
Sens of rotation

I = climbing right
E = climbing left

Housing colour
O = orange

Alle Schwalbenschwanz-Schlitten (Typ SS),
Rollen-Schlitten (Typ RS) sind ab einer Baugrolie
von 75 mm mit einer digitalen Positionsanzeige
ausgerustet lieferbar.

Verschiedene Einbauvarianten lassen ein Ablesen
aus verschiedenen Blickrichtungen zu. Das
Gehéuse besteht aus schlagfestem Kunststoff.
Die digitale Anzeige ermoglicht tber den gesam-
ten MelRweg eine schnelle Einstellung.

From size 75 mm on, all dovetail slides (type SS) and roller
slides (RS) are equipped with a digital position readout.
Different installation options allow to read the display

from different viewing directions. The housing consists of
shockproof plastic. The digital display allows to make fast
adjustments over the complete measuring path.

GroBle Dicke Zwischenplatte

Size Thickness of distance plate
D
50 6
60 6
75 15
100 15
150 15
200 15
300 15
400 15

Ausfiihrungen der Positionsanzeige PA
Versions of the position readout PA

PAO4-02

PA

Technische Daten

Zéhlwerk

Ziffernhohe

Hohlwelle

Gehéuse

Max. Umgebungstemp.
Gehdusefarbe

Gewicht

Technical characteristics

Jumping figure
counter

Height of displayed
figures

Hollow shaft
Housing

Max. admissible
ambient temperature
Housing colour
Weight

4 Dekaden = max. 9999
ca. 3,5 mm

@14 H7 (standard)
Polyamid 6, schlagfest
+80°C

orange

0,05 kg

4 decades = max. 9999

approx. 3.5 mm

0 14 H7 (standard)
of polyamide 6,
shock resistant

+80°C

orange
0.05 kg

PAO4-04

PAO4-06

Y e

34

PAO4-07




9. Zubehor | Accessories

9.1 Montage-Winkel

GroBBe
Size

030
040
050
060
075
100
100
125 [Al]
150
150
200
200
300
300
400
400

Mounting flanges

Bestellschliissel
Order code

MW 030 x 030 x 030
MW 040 x 040 x 040
MW 050 x 050 x 050
MW 060 x 060 x 060
MW 075 x 075 x 075
MW 100 x 100 x 100
MW 100 x 100 x 250
MW 125 x 125 x 125
MW 150 x 150 x 150
MW 150 x 150 x 250
MW 200 x 200 x 200
MW 200 x 200 x 300
MW 300 x 300 x 300
MW 300 x 300 x 500
MW 400 x 400 x 400
MW 400 x 400 x 600

30
40
50
60
75
100
100
125
150
150
200
200
300
300
400
400

9.2 Drehteller fiir Schwalben-
schwanz- und Rollen-

GroBe
Size

075
100
150
200

Schlitten

Turntables for dovetail and

roller slides

18
18
20
20

Bestellbeispiel: Drehteller Gr. 150 Ausfihrung 2
Order example: turntable size 150 execution 2

aus GG 25 sowie in Aluminium schwarz
anodisiert, passend zu allen Standard-Schlitten.
Montageflachen geschliffen, Innenseiten lackiert
bzw. schwarz eloxiert. Standardbohrbilder bei
Montagewinkel nicht moglich.

The mounting flanges are of grey cast iron

(GG 25) as well as of black anodized aluminium and suit
for all standard slide types. The mounting surfaces are
ground, the insides lacquered or anodized black. With
mounting flanges, there are no standard drilling plans
available.

B C D e
30 8 - -
40 10 = =
50 10 - 10
60 10 = 8
75 10 - 8
100 15 - 10
250 15 - 10
125 15 - 15
150 18 55 10
250 18 55 10
200 20 135 10
300 20 137 10
300 25 220 12
500 25 220 12
400 30 230 15
600 30 230 15

Schlittenfihrungen von verschiedenen Grol3en
und Ausftihrungen kénnen mit Hilfe eines
Drehtellers zu verdrehbaren Kreuztischen ausge-
ristet werden. Die Drehteller sind um 360°
schwenkbar. Die Skalenteilung ist 1° ablesbar

in 2 Ausfihrungen.

Ausfuhrung 1: mit Zahlen von 0 - 350
Ausfuhrung 2: mit Zahlen links und rechts 0 - 180

35

.

> Jt

Different sizes and executions of slide guides, depending
on the requirements, can be assembled with turntables in
such a manner that a rotatable cross table is created. The
turntables can rotate by 360°. They are equipped with a 1°
read-out scale graduation and are delivered in two different
types.
Type 1: with numbers from 0 to 350
Type 2: with numbers from 0 to 180,

left and right




10. Bohrbilder | Standard drilling plans

10.1 Standard-Bohrbilder

Standard drilling plans

GroBe
Size

a
040 15 (*25)
050 28
060 34
075 62
100 86
150 130
200 170
300 260
400 340

Achtung: b1 gilt nur bei Typ RA im AuRenteil
fir RA-Innenteil b verwenden —

Toleranzen £ 0,15 mm.

* Gilt nur bei gekennzeichneten Typen im Katalog

b

30
28
34
62
86
130
170
260
340

* Only valid for marked types in the catalogue

10.2 Bohrbilder MOAN/MEAN
Drilling plans MOAN/MEAN

Samtliche Schittenausftihrungen werden auf
Wunsch mit Standard-Bohrbild geliefert.

Die Haufigkeit der Bohrungsabsténde variiert ent-
sprechend der Tabellenwerte Ba/Bi der vorange-
henden Seiten.

If desired, all slide types are furnished with standard drilling
patterns.

The number of drill hole distances varied by

tabular values Ba/Bi on preceding pages.

Gewinde-Tiefen

Depth of thread
b1 M R
30 M3 6
20 M4 6
26 M4 6
34 M5 8
50 M6 10
76 M8 12
118 M8 16
190 M10 18
- M12 25

Caution: b 1 is operative for type RA only, exterior part. Use
b for the interior part of type RA - Tolerances + 0,15 mm.

S T F

Bohrbilder fiir Miniatur-Rollen-Schlitten MOAN/MEAN

siehe Seite 22

Drilling plans for miniature roller slides MOAN/MEAN
see page 22

MOAN

offene Ausfuhrung

open type

MEAN

mit Endplatten

36

with end plates



10.3.1

Bohrbilder ohne Spindel

Drilling plans without spindle

GroBe

Size

040
050
060
075
100
150
200
300
400

* bei Schlitten Baureihe RA

*with slides of the RA line

SE

X X X X X X

X X X X X X x X ;

o
X X X X X X x X m

KE

X x x x X

10.3.2

Bohrbilder mit Spindel

Drilling plans with spindle

Bei Endplatten R ohne MaRe K + X

With end plates type R, without
sizes K+ X

GroBe

Size

040
050
060
075
100
150
200
300
400

X X X X X X

X X X X X X

X X X X X X

~
X X X X X X X X 71

)
~

X X X x X x x |

20
25
25
32
40
50
60
75
100

X X X X X X X X E

40
50
60
75
100
150
200
300
400

20
25
25
32
40
50
60
75
100

10. Bohrbilder | Drilling plans

10.3 Bohrbilder Endplatten

Drilling plans for
end plates
R (0]
S
41 L1
5 I N .
C c* D R (o) e h f g
19 12,5 39,4 3 12 30 35 - -
24 16,5 49,4 6 14 39 3,7 = =
24 16,5 59,4 6 14 48 37 - -
31 20,5 742 6 15 60 5,0 = -
39 27,0 99,0 6 15 88 7.5 - -
49 35,0 149,0 8 16 50 7,5 136 22,5
59 39,5 199,0 8 16 50 7.5 180 29,5
74 53,5 299,0 10 20 180 11,5 270 37,5
98 - 398,0 10 20 240 19,0 360 52,0
B
~ R (©)
. - - -
] . T
el o Tof" TN
c _ N
d — — |— —
S U _I I -
[ X
—
LL,
f
B C D R o e h f g od k
40 19 39,4 3 12 30 3,5 - - 3,5 10,5
50 24 49,4 6 19 39 3,7 - = 4,5 12,2
60 24 59,4 6 19 48 3,7 — — 45 12,2
75 31 74,2 6 21 60 50 = = 5,6 16,5
100 39 99,0 6 21 88 7,5 - - 70 205
150 49 149,0 8 28 50 75 136 22,5 7,0 25,5
200 59 1990 8 28 50 75 180 295 90 345
300 74 2990 10 20 180 115 270 375 110 400
400 98 398,0 10 20 240 19,0 360 52,0 11,0 63,0

37

od

3,5
45
45
5,6
7,0
7,0
9,2

11,0

11,0

10
18
18
22
22
38
38
48
48



11. Bestellschliissel | Order code

Bestellschliissel

Order code

Bestellbeispiele
Order examples

lefalndocolor s oloos olslelala
slolclnlo7sdo1 s ofoo 7 olslalala

? 3lals 6708 01001 ]i213 1415 hiclirkisis)

Typ

Type
S Schwalbenschwanz-Schlitten dovetail slides
R Rollen-Schlitten roller slides

M Miniatur-Rollen-Schlitten

Bauart
offene Ausfiihrung

mit Endplatten

mit Spindel

mit Spindel und Kreuzkurbel

mit Handrad (Standard ab GréRe 300)
mit Spindel und Mikrometerrandel
abgedichtete Ausfihrung
Positionsanzeige

Kundenwunsch

aterial
Grauguss (Standard)
Aluminium (Standard)
Messing
Stahl
nichtrostender Stahl
Grauguss mit Gleitbelag-Beschichtung
Grauguss mit Turcite-Beschichtung
Kundenwunsch

<=w<unz>OE <IVBPSIARWVWMQO

sfiihrung
Standardbauhthe
erhohte Bauhohe
mit T-Nuten
quadratisch
Kundenwunsch

Au
N
H
T
Q

=<

miniature roller slides

Construction type
open type

with end plates
with spindle

with spindle and cross type handle

with hand wheel (standard starting from size 300)
with spindle and knurled micrometer knob
sealed models

position readout

as desired by customer

Materials
grey cast iron
aluminium
brass

steel
stainless steel
grey cast iron with slideway lining
grey cast iron with Turcite coating
as desired by customer

Executions
standard
increased overall height of structure
with T-slots

square

as desired by customer

SchlittengréBe B

000 - 999 mm (Standardwerte gem. MaRtabellen)

Size of slide B

Schlittenldnge L

0000 - 9999 mm (Standardwerte gem. Maltabellen)

000 - 999 mm (standard values according to size table)

Length of slide L

Schlittenhub C

0000 - 9999 mm (Standardwerte gem. Maltabellen)

000 - 999 mm (standard values according to size table)

Stroke of slide C

Bohrbild
A ohne Bohrbild

B mit Standard-Bohrbild im Innen- und AuRenteil

Y Kundenwunsch

000 - 999 mm (standard values according to size table)

Drilling plan

without drilling plan

with standard drilling plan
as desired by customer

Oberfldche
keine Oberflachenbehandlung

natur anodisiert (nur bei Aluminium)
chemisch vernickelt 0,005 mm
chemisch vernickelt 0,020 mm

schwarz anodisiert = Standard (nur bei Aluminium)

Surface
untreated
anodized black = standard (with aluminium only)
anodized natural (with aluminium only)
chemically nickel-plated: 0.005 mm

chemically nickel-plated: 0.020 mm

keine Abdeckung = Standard
Faltenbalg normal montiert
Faltenbalg umgekehrt montiert
Faltenbalg mit Stahllamellen
Fuhrungsbahnabstreifer
Luftspalt

Filzabstreifer

Nylonabstreifer
Kundenwunsch

<XZTMrMOOW>>» <AWXP» <ITVOTMOO®>

briiniert gunmetal finished
phosphatiert phosphatized
plasmanitriert plasma nitrified
hartcoadiert 0,030 mm hard anti-wear coating: 0.030 mm
Kundenwunsch as desired by customer
rretierung Locking
ohne Arretierung = Standard without lock = standard
Arretierung rechts lock right side
Arretierung links lock left side
Kundenwunsch as desired by customer
bdeckung Cover

without cover = standard
bellows cover, mounted normal
bellows cover, mounted reversed
bellows cover with steel lamellas
scraper for guide

ventilation slot

felt scraper

Nylon scraper

as desired by customer

38




1. Allgemein: Durch die Erteilung der Auftrédge erkennt der Besteller unsere
folgenden Verkaufsbedingungen an. Andere Bedingungen, auch Geschifts-
bedingungen des Bestellers, sind ungiiltig, soweit sie unseren Bedingungen
entgegenstehen, es sei denn, wir stimmen diesen anderen Geschéftsbedingun-
gen ausdriicklich und schriftlich zu. Etwaigen Bedingungen des Bestellers wird
hiermit bereits widersprochen. Der Lieferer behélt sich an Mustern, Kostenvor-
anschlégen, Zeichnungen u.4. Informationen kérperlicher und unkérperlicher
Art — auch in elektronischer Form — Eigentums- und Urheberrechte vor; sie
durfen Dritten nicht zugénglich gemacht werden.

2. Angebote: Samtliche Angebote sind freibleibend und unverbindlich. Fir
Zeichnungen und andere Angebotsunterlagen behalten wir uns das Eigentums-
und Urheberrecht vor.

3. Auftragserteilung: Ein Auftrag gilt als erteilt, wenn er von uns schrift-
lich bestatigt ist. Samtliche Erganzungen, Abanderungen, telefonische oder
miuindliche Nebenabreden bediirfen zu ihrer Wirksamkeit unserer schriftlichen
Bestétigung. MaRe, Gewichte, Abbildungen und Beschreibungen sind nach
bestem Ermessen, aber ohne Verbindlichkeit anzugeben.

4. Preise: Unsere Preise verstehen sich ab Werk netto zuztglich gesetzlicher
Mehrwertsteuer, ausschlieBlich Verpackung, Versandkosten und Versicherung.
Fur Warenlieferungen mit einem Nettorechnungswert unter EUR 150,
berechnen wir einen Rechnungszuschlag von EUR 15,—.

5. Zahlungsbedingungen: Zahlungen sind zu leisten innerhalb 10 Tagen
mit 2 % Skonto oder 30 Tagen rein netto. Lohnarbeiten und Reparaturen sind
sofort rein netto zahlbar. Bei Auftragen mit einem Wert gréBer als EUR 15.000,~
oder einer Herstellungszeit von lénger als 3 Monaten wird eine Anzahlung
in Hohe von 1/3 der Auftragssumme mit Erhalt der Auftragsbestatigung und
Anzahlungsrechnung sofort zur Zahlung féllig. Bei Zahlungsverzug werden
unter Vorbehalt der Geltendmachung eines weiteren Schadens bankmaRige
Zinsen und Provisionen berechnet. Die Zuriickhaltung von Zahlungen oder die
Aufrechnung wegen etwaiger vom Lieferant bestrittener Gegenanspriiche des
Bestellers sind nicht statthaft. Verschlechterung der Zahlungsfahigkeit des
Bestellers oder die Nichteinhaltung der vereinbarten Zahlungsbedingungen
berechtigen uns, Sicherheitsleistung fiir alle Forderungen aus dem Liefervertrag
ohne Ruicksicht auf Falligkeit zu verlangen.

6. Lieferzeit: Die Lieferzeit beginnt, sobald samtliche Einzelheiten der Ausfiih-
rung klargestellt und beide Teile tiber alle Bedingungen des Geschéfts einig sind.
Die Lieferzeit ist eingehalten, wenn bis zu ihrem Ablauf der Liefergegenstand
das Werk verlassen hat oder die Versandbereitschaft mitgeteilt ist. lhre Einhal-
tung setzt die Erfillung der Vertragspflichten des Bestellers voraus. Geraten
wir mit unseren Lieferungen oder Leistungen in Verzug und gewdhrt uns der
Besteller eine angemessene Nachfrist mit der ausdriicklichen Erklérung, dass
er nach Ablauf dieser Frist die Annahme der Leistung ablehne und wird die
Nachfrist nicht eingehalten, so ist der Besteller zum Riicktritt berechtigt. Még-
liche Absprachen in Sachen Ver 1 sind einzelvertraglich festzulegen.
Unvorhergesehene Ereignisse, die auBerhalb unseres Einflusses liegen, z.B.
Betriebsstdrungen, Streik, Aussperrung — im eigenen Werk oder beim Unterlie-
feranten — verlangern die Lieferzeit angemessen, und zwar auch dann, wenn sie
wahrend eines Lieferverzuges eintreten. Teillieferungen sind zuléssig.

7. Gefahrentragung: Mit der Meldung der Versandbereitschaft bzw. bergabe
der Ware an den Transportunternehmer, spétestens jedoch mit dem Verlas-
sen des Werkes geht die Gefahr, auch wenn frachtfreie Lieferung vereinbart
ist, auf den Besteller iber. Wenn nicht anders vereinbart, versichern wir die
Ware im Namen des Bestellers und auf dessen Kosten gegen Verlust und
Transportschaden.

8. Verpackung: Die Verpackung wird zu Selbstkosten berechnet und nicht
zuriickgenommen.

9. Eigentumsvorbehalt: Wir behalten uns das Eigentum an dem Liefer-
gegenstand bis zum Eingang aller Zahlungen aus dem Liefervertrag vor. Bei
vertragswidrigem Verhalten des Bestellers, insbesondere bei Zahlungsverzug,
sind wir zur Riicknahme des Liefergegenstandes nach Mahnung berechtigt und
der Besteller zur Herausgabe verpflichtet. In der Zuriicknahme sowie in der
Pfandung des Gegenstandes durch uns liegt ein Riicktritt vom Vertrag nur dann
vor, wenn wir dies ausdricklich schriftlich erkléren. Der Besteller darf den Liefer-
gegenstand weder verpfanden noch zur Sicherung tbereignen. Bei Pfandungen
oder sonstigen Eingriffen Dritter hat der Besteller uns unverziglich schriftlich
zu benachrichtigen. Der Antrag auf Eréffnung des Insolvenzverfahrens berech-
tigt den Lieferer vom Vertrag zuriickzutreten und die sofortige Riickgabe des
Liefergegenstandes zu verlangen. Der Besteller ist berechtigt, den Liefergegen-
stand im ordentlichen Geschéftsgang weiterzuverkaufen. Er tritt uns jedoch
bereits jetzt alle Forderungen ab, die ihm aus der WeiterverduRerung gegen
den Abnehmer oder gegen Dritte erwachsen und zwar gleichgiltig, ob die Vor-
behaltsware ohne oder nach Verarbeitung weiterverkauft wird. Zur Einziehung
dieser Forderung ist der Besteller auch nach der Abtretung erméchtigt. Unsere
Befugnis, die Forderung selbst einzuziehen, bleibt hiervon unberihrt; jedoch
verpflichten wir uns, die Forderungen nicht einzuziehen, solange der Bestel-
ler seinen Zahlungsverpflichtungen ordnungsgemaR nachkommt. Wir kdnnen
verlangen, dass der Besteller uns die abgetretenen Forderungen und deren
Schuldner bekannt gibt, alle zum Einzug erforderlichen Angaben macht, die
dazugehérigen Unterlagen aushandigt und den Schuldnern die Abtretung mit-
teilt. Wird der Liefergegenstand zusammen mit anderen Waren, die uns nicht
gehoren, weiterverkauft, so gilt die Forderung des Bestellers gegen den Abneh-
mer in Héhe des zwischen uns und dem Besteller vereinbarten Lieferpreises
als abgetreten. Die Verarbeitung oder Umbildung von Vorbehaltssachen wird
durch den Besteller stets fiir uns vorgenommen. Wird die Vorbehaltssache
mit anderen uns nicht gehérenden Gegenstdnden verarbeitet, so erwerben
wir das Miteigentum an der neuen Sache im Verhéltnis des Wertes der Vor-
behaltssache zu den anderen verarbeitenden Gegensténden zur Zeit der Ver-
arbeitung. Fur die durch Verarbeitung entstehende Sache gilt im tbrigen das
gleiche wie fur die Vorbehaltsware. Der Besteller ist verpflichtet, den Lieferge-
genstand wéhrend des Bestehens des Eigentumsvorbehalts gegen Diebstahl,
Bruch-, Feuer-, Wasser- und sonstige Schaden zu versichern und uns hiervon
Anzeige zu machen. Erfolgt dies nicht, so sind wir berechtigt, auf Kosten des
Bestellers die Versicherungen abzuschlieRBen. Der Eigentumsvorbehalt und die
uns zustehenden Sicherungen gelten bis zur vollstandigen Freistellung aus
Eventualverbindlichkeiten, die wir im Interesse des Bestellers eingegangen sind.
Wir verpflichten uns, die uns zustehenden Sicherungen insoweit freizugeben,
als ihr Wert die zu sichernden Forderungen, soweit diese noch nicht beglichen
sind, um mehr als 20 % (ibersteigt.

10. Vorkaufsrecht: Bei Betriebsabgabe, Insolvenzverfahren und Liquidation
des Bestellers haben wir an allen von uns gelieferten Waren das Vorkaufs-
recht.

11. Méngelhaftung: Fur Mangel der Lieferung, zu denen auch das Fehlen
ausdriicklich zugesicherter Eigenschaften gehért, haften wir unter Ausschluss
weiterer Anspriiche in der Weise, dass wir alle diejenigen Teile unentgeltlich
nach unserem billigen Ermessen unterliegenden Wahl ausbessern oder neu

12. Verkaufsbedingungen | General Terms and Conditions of Sale

liefern, die sich innerhalb von 12 Monaten seit Gefahreniibergang infolge eines
vor dem Gefahriibergang liegenden Umstandes, insbesondere wegen fehler-
hafter Bauart, schlechter Baustoffe oder mangelnder Ausfiihrung als unbrauchbar
oder in ihrer Brauchbarkeit nicht unerheblich beeintréchtigt herausstellen. Die
Feststellung solcher Mangel ist uns unverzuglich schriftlich mitzuteilen. Ersetzte
Teile gehen in unser Eigentum Gber; sie sind uns auf Verlangen frei Haus zu-
riickzusenden. Fir ungeeignete oder unsachgeméaBe Verwendung, fehlerhafte
Montage bzw. Inbetriebsetzung durch den Besteller oder Dritte, natiirliche Ab-
nutzung, fehlerhafte oder nachléssige Behandlung, ungeeignete Betriebsmittel,
Austauschwerkstoffe, mangelhafte Bauarbeiten, chemische, elektrochemische
oder elektrische Einfliisse wird keine Gewshr iibernommen, sofern sie nicht
auf unser Verschulden zuriickzufiihren sind. Durch etwa seitens des Bestel-
lers oder Dritte unsachgeméR ohne vorherige Genehmigung vorgenommene
nderungen oder Instandsetzungsarbeiten, wird die Haftung fiir die daraus
entstehenden Folgen aufgehoben. Wenn wir eine uns gestellte angemessene
Nachfrist fur die Ausbesserung oder Ersatzlieferung beziiglich eines von uns zu
vertretenden Mangels durch unser Verschulden fruchtlos verstreichen lassen,
kann der Besteller vom Vertrag zuriicktreten. Das Ruicktrittsrecht des Bestellers
besteht auch bei Unméglichkeit oder bei Unvermogen der Ausbesserung oder
Ersatzlieferung durch uns. Bei unberechtigten Méngelriigen, die umfangreiche
Nachpriifungen verursachen, werden die Kosten der Priffung dem Besteller
in Rechnung gestellt. Weitere Anspriiche des Bestellers, insbesondere ein
Anspruch auf Ersatz von Schéden, die nicht an dem Liefergegenstand selbst
entstanden sind, sind ausgeschlossen. Dieser Haftungsausschluss gilt nicht bei
Vorsatz, bei grober Fahrlassigkeit des Inhabers oder leitender Angestellter so-
wie bei schuldhafter Verletzung wesentlicher Vertragspflichten. Bei schuldhafter
Verletzung wesentlicher Vertragspflichten haftet der Lieferant — auRer in den
Féllen des Vorsatzes und der groben Fahrléssigkeit des Inhabers oder leitender
Angestellter — nur fiir den vertragstypischen, verniinftigerweise vorhersehbaren
Schaden. Der Haftungsausschluss gilt ferner nicht in den Féllen, in denen nach
Produkthaftungsgesetz bei Fehlern des Liefergegenstandes fiir Personen- oder
Sachschaden an privat genutzten Gegenstdnden gehaftet wird. Er gilt auch
nicht bei Fehlen von Eigenschaften, die ausdriicklich zugesichert sind, wenn
die Zusicherung gerade bezweckt hat, den Besteller gegen Schaden, die nicht
am Liefergegenstand selbst entstanden sind, abzusichern.

12. Verjahrung: Alle Anspriiche des Bestellers — aus welchen Rechtsgriin-
den auch immer — verjéhren in 12 Monaten, sofern gesetzlich nicht zwingend
etwas anderes gilt.

13. Erfiillungsort und Gerichtsstand: Erfiillungsort fiir Lieferung und Zah-
lung ist Loffingen-Unadingen. Gerichtsstand ist das fiir den Sitz des Lieferers
zusténdige Gericht. Wir sind auch berechtigt, am Sitz des Bestellers zu klagen.

14. Anwendbares Recht: Auf das Vertragsverhdltnis findet das deutsche
Recht Anwendung. Die Anwendung des internationalen Kaufrechts wird aus-
geschlossen.

1. General: By placing an order with us, the customer recognises the Terms
of Sale and Delivery as set forth hereafter. Any other terms and conditions,
such as the customer’s conditions are invalid in so far as they do conflict with
present Terms of Sale and Delivery, unless we expressly consent to these trading
conditions in written form. As a precaution, already at this stage we hereby
object to any probably existing trading conditions the customer may have
established. The supplier, irrespective of whether or not these are of tangible
or intangible nature or exist in electronic form of what kind ever, retains title
and reserves its copyright to samples, cost estimates, drawings andj/or similar
information and no such cost estimates, drawings andj/or similar information
must be disclosed to any third party whoever.

2. Offers: All offers are without obligation and subject to alteration. We
reserve the right of ownership of drawings or other offer documents.

3. Placing of orders: An order is considered as placed if confirmed by us in
writing. All supplements, amendments and subsidiary agreements, no matter
whether made orally or on the phone, are valid only if confirmed by us in
writing. All measurements, weights, pictures and descriptions must be indicated
to the customer’s best discretion, but without any obligation.

4. Prices: Our prices are ex works, net plus legal VAT rate excluding packing,
freight and insurance. For deliveries with an amount smaller than EURO 150.00,
we charge EURO 15.00 extra.

5. Payment terms: All payments must be effected within ten (10) days with 2
% discount or thirty (30) days net without deduction. Wage works and repairs
are immediately payable net without deduction. With orders exceeding an
overall contract amount of EURO 15,000.00 or orders that take a production
time of more than three (3) months a payment on account in the amount of
1/3 of the order placed falls immediately due for payment upon receipt of
order confirmation and payment on account invoice. In the event the customer
is in default, the contractor is entitled - subject to the assertion of further
compensation - to charge the customer with interest rates in the amount
of such rates as usually charged by commercial banks for open overdrafts
including usual commission. The customer is not allowed to withhold payments
or to claim set-off by reason of cross-claims probably denied by the supplier.
Any deterioration of customer’s ability to pay or inobservance of the agreed
payment terms will entitle us to demand provision of security for all supply
contract claims, irrespective whether fallen due or not.

6. Delivery term: The delivery term starts running as soon as both parties
have come to terms about all conditions of their deal. The delivery term limit
is considered as observed if the object of delivery has left the supplier’s works
before date the delivery term expires or if the supplier has notified the customer
of his readiness for shipment. Observance of the delivery time is subject to
the proper fulfilment of the customer’s contractual obligations. In the event
we should fail to deliver or if we get into delay with our performances, the
customer shall concede us a reasonable additional period of time along with
his statement saying that he will refuse to accept said performances after
expiry of this additional time. In case this grace period is not complied with the
customer shall be entitled to terminate the agreement. All agreements probably
made in regard to penalties have to be stipulated in an individual contract.
Any unforeseen events that are not within our control, such as operational
break-downs, strikes or lockouts, no matter whether occurring in our works or
with any of our subcontractors, shall reasonably extend the delivery term, even
if occurring at a time where the supplier is in delay with his delivery. Partial
consignment is admissible.

7. Risk taking: If the customer has been notified of our readiness to ship the
consi or if the consi is delivered to the forwarding agent the
risk passes on to the customer, i.e. when leaving our works at its latest, even
if carriage paid delivery was stipulated. Unless agreed otherwise, we shall - in
the customer’s name and at his expense - take out an insurance coverage
against loss and transport damages.

39

8. Packing: Packing is billed at cost and will not be taken back.

9. Reservation of ownership: We reserve the right of ownership of the
object delivered till all payments to be effected under the delivery contract
have been received. In the event the customer acts contrary to the terms of
the agreement, especially in case of failure to pay on due date, we shall
- after giving notice to the debtor - be entitled to take the object of delivery
back and the customer be obliged to return it. Unless the Hire-Purchase Act is
applicable, the taking back of the object of delivery or the seizure of it implies
the re-scission of the agreement from our side only if explicitly stated in writing.
In case the customer’s property or assets are subject to an order of attachment,
the customer must notify us immediately thereof. The customer must neither
pledge nor transfer the goods ordered by way of security. However, he already
now assigns to us all claims that might accrue from it against his own client
or third party whoever, regardless whether or not he resells said goods under
reservation of ownership without or after any further modification or treatment.
In the event a petition for insolvency proceedings has been filled, the supplier
shall be entitled to withdraw from contract and to demand prompt restitution of
the goods ordered. The customer is entitled to collect any such claims even after
the above assignment. This, however, does not affect our qualification to collect
the claim ourselves, but we oblige ourselves not to collect any such claims as
long as the customer duly fulfils his obligations to pay. We may demand the
customer to notify us of the assigned claims and of the corresponding debtors
and to provide all necessary information for the collection of the receivables
and to inform his debtors thereof. If the object of delivery is resold together with
goods not owned by us the customer’s claim against his own client is considered
as assigned to us at a rate equivalent to the delivery price agreed between us
and our customer. In case the customer treats or modifies the goods delivered
under reservation of ownership, any such treatment or modification is made on
our behalf. If the object delivered under reservation of ownership is combined
or supplemented with other objects not in our ownership, we shall acquire
fractional ownership, this is to say on a pro rata base in regard to all other
new attached or new included objects at the time they have been processed,
treated, assembled, fixed, joined or mounted otherwise. The same as set out
hereinbefore in regard to the goods delivered under reservation of ownership
shall apply for the new object thus created. During the time we own the goods
delivered under reservation of ownership the customer is obliged to take out an
insurance to assure the object of delivery against theft, fire and water hazard
as wall as against any other damages and must send us a notification thereof.
In case the customer fails to do so, we ourselves shall be entitled to take out
corresponding insurance on his behalf. The reservations of ownership including
the securities we are entitled to shall be valid and operative until complete
release from any contingent liability whatsoever that we have assumed in the
customer’s interest: We hereby oblige ourselves to release the securities we
are entitled to in as far as their overall value exceeds the unsettled claims to
be secured by more than 20%.

10. Right of pre-emption: In the event of a close down of the customer’s
operations or if bankruptcy proceedings have been instituted against his
company or if his company is wound up, we shall - in regard to all goods
delivered by our company - be entitled to exercise the right of pre-emption.

11. Liability of defects: To the exclusion of further claims we assume
liability for deficiencies of the delivery including absence of explicitly warranted
qualities in such manner as follows: we shall, at our reasonably exercised
choice and discretion, either repair or replace all those parts free of charge
that have proven unserviceable or the serviceableness of which turned out
to be a significant impairment and shall do so within twelve (12) months as
of the date of the passing of the risk if any such failure is owing to reasons
occurred before said date, particularly if attributable to imperfect construction,
to bad construction materials or a deficient make. If any such deficiencies are
detected the customer must notify us immediately thereof. Replaced parts
shall pass into our ownership and, if requested, must be returned to us free
domicile. We deny any liabilities whatsoever attributable to any inappropriate
or inexpert use, imperfect mounting or commissioning by the customer or third
parties whoever or to natural wear, incorrect or negligent treatment, use of
inappropriate operation material, substitute materials, deficient construction
works, chemical, electrochemical or electric influences, if these are not due to
our own fault. We do not assume any liabilities and shall not be responsible
for any consequences that might probably arise if the customer or any third
party whoever undertakes to perform repair works or modifications without
our explicit prior consent. If we fail to comply with an additional period of
time a customer has granted us for the repair of a deficiency attributable
to us or to provide replacement, the customer shall be entitled to cancel the
agreement. The customer is also entitled to rescind the agreement in case
the repair or the replacement is impossible or if we should be unable to
perform it. With unjustified claims in respect to defects requiring to make
comprehensive investigations and inspections the cost for any such
investigations will be billed to the customer. Further claims raised by the
customer, in particular compensation for damages not occurred at the object
of delivery itself are excluded. This exclusion of liability shall not be operative
in case the above damages are attributable to actions of the owner or its
executives and have been motivated by or gross I e or if
there is an infringement of essential contractual obligations. In the event of
a culpable infringement of essential contractual obligations, the supplier is
- to the exclusion of actions d by i jon or gross e - only
liable for contract specific, reasonably foreseeable damages. In addition, the
above exclusion of liability does not apply for any cases where liability is
incurred pursuant to the Product Liability Act for deficiencies of the object of
delivery or for personal injury and damage to private property. Also, it shall
not apply if explicitly guaranteed qualities are missing and if it is the purpose
of this guarantee to insure the customer against any damages not occurred
at the object of delivery itself.

12. Limitation of the right of action: All claims the supplier may be entitled
to, no matter on what legal grounds, shall, unless not otherwise provided by
imperative provision of the law, become statute-barred after 12 month.

13. Place of delivery and payment, place of jurisdiction: Place of
delivery and payment is Loffingen-Unadingen. The court having venue shall
be the c court at the h ters of the supplier’s undertaking. We
shall nevertheless be entitled to file an action before court with any competent
court having venue at our own and thus the customer’s head office.

14. Applicable law: Any contractual relationship under these Terms of
Sale and Delivery is subject to the law of the Federal Republic of Germany.
Application of United Nations Convention on Contracts for the International
Sale of Good excluded.

Stand: 10. Januar 2006 | State: 10. January 2006



Fohrenbach GmbH

Fohrenbach AG

Unser Lieferprogramm

Mechanische Komponenten/
Manuelle Fithrungen

B Schwalbenschwanzschlitten
B Kreuzrollenschlitten

B Miniatur-Rollenschlitten

B Kreuztische

Motorische Prazisionsschlitten/Spindelantriebe

B Kugelbtchsenfiihrungen KBS / KCS

W Profilfihrungsschlitten PFS / PCS

B Kreuzrollen- und Schwalbenschwanz-
fuhrungen MR, MS

Motorische Prézisionsschlitten/
Integrierter Linearmotor

B Kugelbtichsenfiihrung KCL

B Profilfihrungsschlitten PFL / PCL

Rundtische / Rotationsachsen

B Rundtische mit Schneckentrieb RT1A, RT2A
B Rundtische mit Direktantrieb RT3

B Teilapparat TA3G180

Komplettsysteme / Mehrachssysteme
W Linear
B Rotativ

Steuerungen
MW Strecken- und Bahnsteuerungen
B Schaltschrank-Komplettsysteme

Antriebe

W Schrittmotore und AC-Servomotore
MW Leistungsendstufen / Servoverstérker
B Motore mit integriertem Leistungsteil

Zubehor

Die Fohrenbach Firmengruppe

1975 durch Manfred Féhrenbach gegriindet,
zéhlt sie heute zu den fihrenden Herstellern
in der Automatisierungstechnik und im
Prazisionsmaschinenbau.

B Das umfangreiche Lieferprogramm bietet nahe-
zu alle Komponenten fur lhre Automatisierungs-
technik aus einer Hand.

B Die hohe Fertigungstiefe, erméglicht durch die
Werke in Loffingen-Unadingen (Deutschland),
Weinfelden (Schweiz) und Sligo (Irland) sowie
modernste Produktionsanlagen sichern eine
konstant hohe Qualitét.

MaRgeschneiderte Komplettlosungen fiir nahe-
zu alle Branchen sind weltweit im Einsatz,
zum Beispiel zum: Messen, Prifen, Sortieren,
Palettieren, Richten, Frésen, Bohren, Schleifen,
Schweissen, Kleben, Schrauben, Nieten, ...

Our range of products

Mechanical components/
Manual guides

W Dovetail slides

W Roller bearing slides

W Miniature roller slides

W Cross tables

Motorized precision slides / Spindle drive
W Ball bushing slides KBS / KCS
W Profiled guide slides PFS / PCS
W Roller bearing and dovetail guides
MR, MS

Motorized precision slides/
Integrated linear motor

W Ball bushing slide KCL

W Profiled guide slides PFL / PCL

Rotary tables / Rotary axis

W Rotary tables with worm gear RT1A, RT2A
B Rotary tables with direct drive RT3

B Driving apparatus TA3G180

Complete systems / Multi axis systems
W Linear
W Rotation

Control systems
W Straight line and continuous path control systems
W control cabinet-complete systems

Drives

W Stepper motors and AC servomotors
W Power amplifiers / Servo amplifiers
W Motors with integrated power

Accessories

The Fohrenbach Group

Founded in 1975 by Manfred Féhrenbach, the Group today
numbers among the leading producers in the automation
systems and machine building branch.

B The wide-spread product line offers nearly
all components you need to cover the full spectrum of
your special automation technique tasks.

W The large manufacturing range, made possible by our
plants located in Loffingen-Unadingen (Germany),
Weinfelden (Switzerland) and Sligo (Ireland) and latest
production facilities assure permanent high quality.

Customized complete solutions for almost

all branches: Fohrenbach units are on duty world-wide,
e.g. for measuring, checking, assorting, palletising, adju-
sting, milling, drilling, grinding, welding, gluing, screwing,
riveting,....

Féhrenbach GmbH
LindenstraRBe 34
D-79843 Loffingen-Unadingen
Telefon +49 (0) 7707 159 0
Telefax +49 (0) 7707 159 70
info@foehrenbach.com
www.foehrenbach.com

Féhrenbach AG
Tannenwiesenstralle 3
CH-8570 Weinfelden
Telefon +41 (0) 71 626 26 76
Telefax +41 (0) 71 626 26 77
info.ch@foehrenbach.com
www.foehrenbach.ch

Fohrenbach®

Positionier-Systeme

Anderungen vorbehalten | Modification reserved 001/DE/0408/cb



